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Question Number : 1 Question Id : 91394318017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following indicates the concept of Zone of Proximal Development (ZPD) as
suggested by psychologist Lev Vygotsky ?

Options:

- ! a9 - - a9 - a9 . - k-
s1304z70s01 /) learner’s brain develops faster in childhood.



- Il-| - - :r Ir - .LN Il-| ] Ir- - - - I.-|.
91594370802 A learner learns effectively when it is supported with real life examples

What a learner can do with help and without help.
91394270803,

51394370504 Lriends interaction is very important for proper development of child.

Question Number : 1 Question Id : 91394318017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 2 Question Id : 91394318018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following is the correct set of four fundamental principles of Rabindranath
Tagore’s educational philosophy ?

Options:

91394370805, Humanism, Commercialisation, Urbanisation, Hinduism

915394370806, Naturalism, Humanism, Internationalism, Idealism

1594570807 Globalisation, Localisation, Transformation, Capitalism

Socialism, Spiritualism, Tourism, Commercialism
91394370808,

Question Number : 2 Question Id : 91394318018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:




91334570805

91334570806

51394370807 A3l MR, IR, YSiidg

- GUISTETR, LTS, THeH, SAEHTashdl

913345708038

Question Number : 3 Question Id : 91394318019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The field of study of the theory and practice of self-determined learning that focuses on the
importance of knowing how to learn is known as :

Options:

LIS ooy
1504370809 LPIStemMoOlOgy

Andracoey
91394370810, “bYbY

Pedacoov
91394370811, agos)

Heutag¢oovy
91394370812, oo/
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Correct Marks: 2 Wrong Marks: 0
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Options:

B1334=708038,

TTEITeq Jomet

91334570810,

91334570811, ‘Fm A2

91394370812, SATeH - 3AfeT

Question Number : 4 Question Id : 91394318020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The construction of thought process, which includes remembering, problem solving and
decision making, is called as :
Options:

Andracoey
91394370813, 5986}

y PR
"5y HOgY
912334570814, I 2, cholc &)

dYodacoov
91394370815, Pedagogy

Cognitive development
91394370816,
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Correct Marks: 2 Wrong Marks: O
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Q1394370814 -qzhmﬁ
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91334570815,

a1z94370516. SAlltHe [9onid

Question Number : 5 Question Id : 91394318021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The field of study dealing with methods and principles used in adult education is known
as :

Options:

> RS PR ;
91394370817, IE[{‘I?)[}ETF

2 T i T
91394370818, Andrd‘_%mg)}

Anthropoloev
41394370819, POIOEY

01294370850 Gerontology
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

91394370817 TSFTT (Teqreme)

TGt (rgfaret yome)

215394270815,

wyrers (Ffaam)

91334570819,

SETerstt (SH-fa=m)

215394270820,

Question Number : 6 Question Id : 91394318022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The four approaches to knowing answers to research questions, according to Kerlinger,
are :

(a) Method of tenacity

(b)  Method of intuition

(c) Method of authority

(d) Method of science

(e) Method of creativity

(f)  Method of non-functionality
Code :
Options:

(b), (c) and (d)

91394370821 (a),

(b), (¢), (d) and (e)

91334570822,

(d), (e) and (f)

B1334570823. (b)’

1394370304 (©) (d), (e) and (f)

Question Number : 6 Question Id : 91394318022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(@), (b), () ¥R (d)

91334570821,

c), (d) 3R (e)

91394370822, (b)’ (

(b), (d), (e) S (f)

91334570823,

a1394370824, () (), (€) 3R (f)

Question Number : 7 Question Id : 91394318023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

One way to measure the extent to which a measure is free of random error is to compute
its :
Options:

o1394370305 Content validity

Experimenter’s bias
91394370826,

Test-retest reliability
91394370327, :

915394370858 Demand characteristics
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Correct Marks: 2 Wrong Marks: 0
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B12334570825.

GANTeRdl ohi el 40T
91394370326,
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B1334570827.

91334570828, T A&

Question Number : 8 Question Id : 91394318024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Qualitative researchers criticise quantitative research for its tendency towards :

Options:

91394370829, Emphasis on evidence

Focus on empiricism
91394370830,

91394370831 Reductionism

915394370855, Obsession with creativity

Question Number : 8 Question Id : 91394318024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91334570829, HIET W EﬁT

IIHFEAR R SR

215394270850

215394270851, %
GoHIcHehdl & 9fd 3rcafye ST fe

B1334570832

Question Number : 9 Question Id : 91394318025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which method is appropriate to reduce random error ?

Options:

o1304370833, clect large sample size

& 'L, L1 . : ¥ 1’ " " )
91394370834 Administer the test after a gap of one week

51394370835 Administer the treatment in the same way every time

150437053 Lrdminister manipulation checks

Question Number : 9 Question Id : 91394318025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91294370833, < 159 SARR 1 =TH
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91334570824

91394370535, ©% oL Teh HHIT ®Y Y ITEIR HET

91334570836, m SIEA SrE

Question Number : 10 Question Id : 91394318026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In relation to code of conduct in research, what does APA stand for ?
Options:

o1594570857 Advanced Psychological Authority

sveholooic ssociatio
a1504370s3s L imerican Psychological Association

Australian Psvcholoeical Association
91394370839, S el ks R G

TaraTe 1 Yoy v 1 TaraTars .
S50 n of Psycholog 5Ses¢ :
a1504370m40. LASSOCIation of Psychological Assessments

Question Number : 10 Question Id : 91394318026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:
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Question Shuffling Allowed : Yes

Question Id : 91394318027 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuestion Label @ Comprehension

Read the following passage carefully and answer questions 11 to 15.

For all the disagreement in the industry about the future of aviation, there is perfect accord
on one point : There is going to be a lot more of it. The world’s air passengers flew a combined 7.64
trillion kilometers in 2017. By 2037, that will rise to 18.97 trillion kilometers, with about 40% of the
increase happening within five intra-regional markets : China, India, North-America, Europe and
South-east Asia. That is sparking a battle over the biggest bottleneck holding back this growth :
airports. The governments that still own many of them should be more open to privatisation to
cover a $ 78 billion funding gap in needed capital investments. Airlines, airports’ biggest customers,
see things differently. Costs at privatised terminals are higher and governments should be cautious
about such actions in the interests of expanding the aviation sector as a whole. Privatising an
airport does not necessarily make it more efficient. A study has found there was little difference
between the performance of airports 100% owned by commercially-oriented government
corporations and those majority controlled by private businesses. The key is instead to avoid
structures where the incentives for managers are confused or misaligned, such as where private
companies are brought in as minority investors or where managers are essentially bureaucrats
swayed by political imperatives. There is a better solution out there, but it is not hLelv to be very
attractive to incumbent airlines, airports, or passengers enamoured of the current generation of
gleaming terminals : build more, cheaper airports.

Sub questions

Question Number : 11 Question Id : 91394318028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the growth rate in aviation apart from the five intra-regional markets ?

Options:



a1594370841 10 Percent

9. -
213942370842, _U pEI’LEHt

~y o
01394370843, 00 percent

4(0) percent
91394370844,

Question Number : 12 Question Id : 91394318029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Why should the governments be open to privatisation of airports ?
Options:

3 L'! T 1 Ir - T - e " L'|
91394370845 Because they own many airports

Because there is a battle for growth
91394370846,

For necessary ::apita[
91394370847, .

91594370348 ['o Iimit the government control of aviation 111duﬁ.tr}r

Question Number : 13 Question Id : 91394318030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
How do airlines see the move for privatisation of airports ?

(a) Feel that costs are high

(b)  Governments should be cautious

(c) Interest of the aviation sector is important
(d) It decentralises the authority to control
Code :

Options:

(a), (b) and (c)

291334570843,

(b), (c) and (d)

B91334570850.

(c), (d) and (a)

91334570851,



and (b)

91394370852, (d), (a)

Question Number : 14 Question Id : 91394318031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What is the key for making airports function efficiently ?
Options:

lake pri companies as minority s lders.
a1504370sss Make private companies as minority shareholders

) | 10 H 1 - 1 - - 5
10 L s to Yers.
1504370554 L TOVide misaligned incentives to managers

- ¥ e . = = - ks ke N - - - e 1 - b i a1
a1594370sss ecognise political imperatives of bureaucrats appointed as managers.

Avoid structures of confused incentives to managers.
91394370856,

Question Number : 15 Question Id : 91394318032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

...Q

Which of the following is the focal inference of the author in the passage

Options:

; YWhner: ) rts does no y .
o1304570s5, L rivate ownership of airports does not mean efficient management

a13943703sg Growth of the aviation industry is distorted.

irports ) bstacle to ywth of aviation i stry.
1304370859 LMTPOrts are not an obstacle to the growth of aviation industry

Government-owned airports are known for high performance.
91394370860,

Question Id : 91394318027 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cestion Label | Comprehiension
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Question Number : 11 Question Id : 91394318028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

913394370841, 10 E”‘H d
20 Fiqerd

B1334570842

L ]
913943705453, 30 | EIQIEI
91394370544, 40 QI:E!QEEI

Question Number : 12 Question Id : 91394318029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 13 Question Id : 91394318030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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91334570849,

(b), (c) 3R (d)

291334570850,

(©), (d) 3R (a)

B91334570851.

(d), (a) 3R (b)

2153394270852,
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Correct Marks: 2 WrongMarks: 0
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Options:
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2915334270855,
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Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 16 Question Id : 91394318033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Signs are considered as secondary products of :

Options:
R

91394370861, IESSAZE

91394370862, Channelisation

Semantic accura cy
91334570863, "

91294370864, Infotainment

Question Number : 16 Question Id : 91394318033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Options:

a9 &

91334570861,

91334570862, €= I l l [ <hl
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912334570864,

Question Number : 17 Question Id : 91394318034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The relational approach in classroom communication comes from :
Options:
o139437036s LNtra-personal communication

Inter-personal communication
91394370866

& T = i - - . - k=
130437085, OTganisational communication

91394370368, Mass communication

Question Number : 17 Question Id : 91394318034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
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Question Number : 18 Question Id : 91394318035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Classroom speech is considered as a :

Options:
91394370369, 1 echnical medium

91394370870, INOn-technical medium



91394370571 Mass medium

1504370570 ONOrganised medium

Question Number : 18 Question Id : 91394318035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91334570869, deh-ilehl HIEIH

91394370870, TR-TqehIeh] HIEAH

215394270871, ST HIEIH

91394370572 S1od HIEAH

Question Number : 19 Question Id : 91394318036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

In a classroom, communication becomes effective when participants are :
) Active
b) Empathetic

d) Homophilous

(
(
(c) Heterophilous
(
(
(

e) Silent
f) Uncritical
Code :
Options:

91394370873, (a), (b), (c) and (d)

41394370574 (b), (c) (d) and (e)

(a), (b), and (d)

B12334570875.

91394370876, (c). () and (f)
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Correct Marks: 2 WrongMarks: 0
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Options:

(@), (b), (c) 3R (d)

B1334570873.

(b), (©), (d) 3T (e)

91334570874,

91334570875,

B1334570876,

Question Number : 20 Question Id : 91394318037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The information seeking strategies of students are :

(a) Entropy-oriented
(b) Overt

(c) Non-functional
(d) Indirect

(e) Third party

(f)  Testing

Code :

Options:

(a), (b), (d) and (e)

91334570877,



91394370878, (b), (c), (e) and (f)
91394370879, (b), (d), (e) and (f)

s1394370850. (&), (D), (€) and (f)

Question Number : 20 Question Id : 91394318037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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a) TAsftaca-3q@

b) UdH
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(
(
(F) e
<he<

(a), (b), (d) 3R (e)

91334570877,

(b), (c), (e) AR (f)

91334570878,

(b), (d), (e) 3 (f)

91334570873,

(a), (b), () 3T ()

91334570880,

Question Number : 21 Question Id : 91394318038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If DIVE is coded as IMYG, then the code for TAKE will be :

Options:

2915334270881, XFMG



91334570882, YENG

B13345708E3. TEMG

91334570854, XENG

Question Number : 21 Question Id : 91394318038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
gfq DIVE &1 IMYG % ®9 H Feag fHan irar € @ TAKE &1 2 2

Options:

91394370881, XEMG

91334570882, YENG

TFEMG
91394370883,

91334570854, XENG

Question Number : 22 Question Id : 91394318039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The next term in the series is :

o6, 40, 27, 17, 10,

Options:

B9133457 0885, 6
2123345708856, 7

91334570887,

215334270888, >

Question Number : 22 Question Id : 91394318039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TH @l sl QU HIT
06, 40, 27, 17, 10,

Options:




91334570885, 6
91334570856, 7

91334570857, 8

o

91334570888,

Question Number : 23 Question Id : 91394318040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The next term in the letter series is ;

ME, KH, IK, GN, 15 ;

Options:

212334570859, hQ
91334570830, CK

a1394370891. bD

913943?0892.L)L

Question Number : 23 Question Id : 91394318040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U AT sl A HITIT :

ME, KH, IK, GN,

Options:

91334570859, LQ

91334570830, CK

215394270891, BD

91394370892, DT

Question Number : 24 Question Id : 91394318041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose the word which is different from the rest.
Options:
91394370893 L}'E“’

91394370894 LNOSE

Legﬁ.
91394370895,

215394270896, Hands

Question Number : 24 Question Id : 91394318041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
feferfiad 5 9 98 9sg FH

Options:

e

913345708393, AC

91394370894, D
91394370895, UX
B

213394270836

Question Number : 25 Question Id : 91394318042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ram said, “l am the only child of my mother”. Next he pointed to a boy and continued,
“This boy is the husband of the grandchild of my mother”.

How is Ram related to the boy ?

Options:

o1594370897 Lather

a1za4z7050s orandfather

91394370899, Brother-in-law

1394370900 I ather-in-law

Question Number : 25 Question Id : 91394318042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
TH e, ' H SO T 1 STReT STeTeh § | S5 A8 39 U oS hi 311 SN HLd gU %A, I8
dAeH T A F i F ufa g1

9 H1 39 ASF Y 7 Gy ¥ ?
Options:

913345708597, I Il

B133457 08595, =

-l

2153942705595

91394370900, hle -1l

Question Number : 26 Question Id : 91394318043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two premises (a) and (b).

Four conclusions are drawn from them. Select the code that states validly drawn conclusion(s)
[taking the premises individually or jointly].
Premises : (a) Some women are teachers.

(b) All teachers are hard-working.

Conclusions :
(i)  All hard-working people are teachers.
(i)  All teachers are not women.
(iii) Some hard-working teachers are women.
(iv) Some women are hard-working.
Code :
Options:
2123345703901, (l) and (II)
(ii) and (iii)
91334570902,
(1) and (iv)
215334270303,
(iii) and (iv)
913345703904,

Question Number : 26 Question Id : 91394318043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



== 1 SER-aE few T € (a) 3R (b) |

0 § IR fehd 3qgd fore e €| 39 e b1 e 5 e (df) § Sfaa w9 1 Seera foan @
T [STHR-aT 1 Ushel ®9 § 41 G5 &9 9 oid 2] |

WUT AT :  (a) P Hfead e 2|

(b) Tt forereh HeTat €

Frrend ) | e e e ¥
(i) 9t forerss Afgad 72 € |
(iii) FS T e Afeard €1
(iv) D Afedd Hed 2 |

e

Options:

91394270901, (l) Sﬂ_{' (l‘.l)

Q1=294270302, (H) a:ﬁ-{ (LLI'.)

Q1=2942709032, ([) aﬂ_{ (IV)

Q1394270904 (LL[) aﬂ-{ (IV)

Question Number : 27 Question Id : 91394318044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following arguments the conclusion can be no more than probable ?

Options:
Implicative

91394370905, P o€

139437090 AANalogical

91394370907, Deductive

91394370905 Lemonstrative

Question Number : 27 Question Id : 91394318044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

freferfiad § 9 frg a5 4 frewd Surea 9 stfeer 7@ 21 el €72

Options:



215334270305, i

212334570306,

B91334370307. (H A

UeYcHh
Q129427 0908,

Question Number : 28 Question Id : 91394318045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“To slow a beast, you break its limbs.

T'o slow a nation, you break its people.”
- Identify the argument involved in the above :

Options:
91394370900, INAuctive

51394370910, Leductive

Analoeical
91394370911, s - e

91394570912, Demonstrative

Question Number : 28 Question Id : 91394318045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
"Rt SiTelt U] T Tfd BiGH i o fT A9 39k ST @ dred € |
Tt T2 1 WIIfd U o TT0 2119 =@ & @l 3 e o wid e |
3T | HisIfed qeh ge=n

Options:

HATHATHR
91394370309, ¢

91394370910, 11 1ATICH

215394270911, H|%%¢“'~"‘|Ch



2915334270912, AR

Question Number : 29 Question Id : 91394318046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“The relation that exists between Premises and Conclusion is that of logical necessity” - is the
case with which of the following arguments ?

Options:

91334570913, Inductive

91394370914, Deductive

91394370915 Lemonstrative

91394570916 Analogical

Question Number : 29 Question Id : 91394318046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“ remETeR SR TSR O 7 TaRmE Sy difches STavaeRdl € - 9 Ui fAefaied § 9 g 96
HRae?

Options:
[
91394370913, SITHICHEh

[

91394370914, |1 IHAICHh

91394370915, A@XIICHN

91334570916, N |%?‘3-||T"|q?

Question Number : 30 Question Id : 91394318047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the following statements, two are contradictory to each other. Select the code that
represents them.

Statements : (a) All surgeons are doctors.
(b) Some surgeons are doctors.
(c) Some surgeons are not doctors.
(d) No surgeons are doctors.

Code :

Options:



(a) and (b)

91334570917,

(a) and (d)

2915334270915,

(b) and (d)

B91334=70919.

(b) and (c)

91334570920,

Question Number : 30 Question Id : 91394318047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frefarfead oAl § <1 o Tk g F WER fadef €1 3% feftd &3 aren $e 9w
hdH :

a) g9 yoafafecgs fafehcas €1

(
(b
(
(

)
)

F3 T afredd Tafhes

¢) FD eArAha® fafhedd Tl 2|

d) FE vAtafhes fafhes & & |

< :

Options:

(a) 3R (b)

91334570917,

(a) 3R (d)

2915334270915,

(b) 3T (d)

215394270919,

(b) &R (0)

215394270920,

Sub-Section Number: 4
Sub-Section 1d: 913943916
Question Shuffling Allowed : Yes

Question Id : 91394318048 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 33)
Cuesticon Label | Comprehension



Monday Tuesday Wednesday
Time Distance Time Distance Time Distance
Cab (Hours) (kms) (Hours) (kms) (Hours) (kms)
A 16 656 12 480 10 410
B 10 700 14 490 18 720
C 11 770 13 650 16 640
D 2. 744 15 825 14 840
E 14 826 14 728 12 840

The table given above gives the number of kilometers travelled and the number of hours
taken by five cabs A, B, C, D, and E. Data on three days is given - Monday, Tuesday and
Wednesday.

Use the above data to answer the questions given below.

Sub questions

Question Number : 31 Question Id : 91394318049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The average speed of cab A for the three days taken together is approximately :
Options:

91394370921, 10 km/hr

20 km/ hr

B133457 0922,

30 km/ hr

B9133457 0923,

91394370924, 2V km/ hr

Question Number : 32 Question Id : 91394318050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The difference between the average speed of cab C and cab E on Monday is :
Options:

11 kms/hr

91394370925,
91394370926, 21 kms/hr

ol [ - N
91594370827, 31 [\[Tlhfhf

41 kms/ hr

215334270925,

Question Number : 33 Question Id : 91394318051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which cab travelled the most in the three days taken together ?

Options:

91394370929, D

212334570920, C

91334570921, D

91334570932,

Question Id : 91394318048 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

E

Question Numbers: (31to 33)
Juestion Label - Comprehension

AR TR ECEI
99 ER 99 Ll 99 ELl
Ex| (=21 H) | (fedr. #®) | (s@i#H) | (fra ) | (s=@id) | (fmdh #)

A 16 656 12 480 10 410
B 10 700 14 49() 18 720
& 11 770 13 650 16 640
D 12 744 15 825 14 840
E 14 826 14 728 12 840

Iy difetet | 9 o fFamier 3R & A, B, C, D, 3R E g1 UHeR, HTear 3 g4ar & 7
T 77T 53] T TET T |
IUYF ATdhel 1 STAN Fd U A1 S T Y947 o 3o i |

Sub questions

Question Number : 31 Question Id : 91394318049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fel TRt & ‘A’ &1 i fedi &1 Sigd Tfa e g

Options:

10 TeReATHTeT i e

215334270921,

20 fRaATHT 9fd e
30 ferardTeT gfd se

B133457 0922,

215394270925,



40 ToRerHeT gfd =

91334570924,

Question Number : 32 Question Id : 91394318050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HHAR &1 %9 C 3 Fd E 1 379d i § o sfav 22

Options:

91394370905, 11 ThCIHIZY HId =]

21 TohemTe wfd e

B133457 0926

31 e 9fd Sel

B13345708927.

91394370925, 21 [RCAHIZ JId =

Question Number : 33 Question Id : 91394318051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
1 A1 # 9 %@ g waitys g 99 &1 71 2

Options:

91334570929, B
91334570930, C

B91334570921.

91334570932, B

Sub-Section Number: 5
Sub-Section 1d: 913943917
Question Shuffling Allowed : Yes

Question Number : 34 Question Id : 91394318052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following diagrams indicates the best relation between India, World and
New Delhi ?

Options:



~
v

A

91334570923,

91334570934,

O O

91334570935, O

(Oc

2153942709356, \

\Q/

Question Number : 34 Question Id : 91394318052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

freafafaa 9 fog wafas § ura, fava 3ir 72 fooodt & == wdiaq gdy &1 Fefua fea w82

Options:
(o)~
_

7. \

91334570933,

=)

91334570934,

2153342709355,

91334570936,

Question Number : 35 Question Id : 91394318053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following diagrams best represents the relationship between, family, family
member and domestic help ?



Options:

21334570937,

91334570938, -

2, 8
D/

II_.-
|"'-
L

o

|

B13345708929. =

) ()
91394370940, Q O

Question Number : 35 Question Id : 91394318053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fefafeaa § § o @t § 9RER, T 3R 5e A/ Al & o= |69 i Jarqd €9 4§
frefua fe T 22

Options:
OO

B T Y A8

91394370937,

Y
g s

“ON
-

P
l

2153942709358,

7O
W0

91334570929,

Y C

III'H_H.\I
L

L

913345703940,

Question Number : 36 Question Id : 91394318054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is not a Network Topology ?

Options:



Imo
Q1294270941 J'{[n'D

91394370942, Chain

2153942709435, Bus

91394370944, Star

Question Number : 36 Question Id : 91394318054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frefafad § 9 sA-91 T2 Fiftafd (rdrerst) & €2

Options:

fa

215334270941,

91334570942, |
9133453703943, K

91334570944, SR

Question Number : 37 Question Id : 91394318055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match the following :

List - I List - II
i)  Outlook
i) DOS

iif) Internet Explorer

a) Browser
)

o

Programming Language

d) E-mail
The correct code is :

e del e e

91334570945, (1) (I'.I_I'.) (I_I'.) (IV)

(
(
(c) Operating System
( iv) Fortran

s139437094s, WD) (IV) (i) (i)



91334570947, (I_I'.) (ILI'.) ([V) (l)

215334270345, (IV) (I'.I_I'.) (LI'.) (1)

Question Number : 37 Question Id : 91394318055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frefafad =1 faem =1 -
Tt - 1 e - 11

a) SIIESH (
b)  HHTHT AAES (
S A i
(

¢) 3TN faEn

d) =-1«

(@) (b) (c) (d)
91394%?0945_ (i) (i) (i) (iv)

21234570946, (LI'.I'.) (IV) (I_I'.) (l)

91394370947 (i) () (@v) (D)

913345709458,

Question Number : 38 Question Id : 91394318056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following denotes the Internet hardware requirements ?
a) Hub

b) Bridge

c¢) Router

d) Gateway

(e) Modem

Code :

Options:

(e) only
91394370949, :

(a), (b) and (e)

B1334570850,

(b), (¢), (d) and (e)

91334570951,

91394370955 (a), (b), (¢), (d) and (e)

Question Number : 38 Question Id : 91394318056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frAfafEd | 9 ShiH-41 3231 TedaR AEYIHAIs shl <90dl g 2

91334570943, ((-_‘)

(a), (b) 3R (e)

B1334570850,



(b), (c), (d) 3T (e)

2912334570951,

0), (d) S (e)

91394370352, (a), (b), (

Question Number : 39 Question Id : 91394318057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A set of rules used in communications in a network is called :

Options:

91394370955 Interface

B =
91394370954 L TOtOCOL

91394370955, Address

s1394370956. Reference

Question Number : 39 Question Id : 91394318057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

O e 3 T g P o e e g

Options:

91334570953, :
91334570954, I”!ll g

91334570355, " ?‘
THH

B9133457 0956,

Question Number : 40 Question Id : 91394318058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following are pointing devices ?

(a) Trackball (b) Touchscreen
(c) Graphic Tablet (d) Joystick
Code :

Options:



2R i
91394370957, (a) only

(a) and (d)

91334570958,

(a), (b) and (d)

91334570959,

s1394370080. (@) (D), (€) and (d)

Question Number : 40 Question Id : 91394318058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
frAfaiEd § 9 -4 SEfen 39 8 ?

) Wtk eacte (d) Sirafes

Options:

Sad (a)
(a) 3R (d)

91334570957,

91334570358,

(a), (b) 3R (d)

91334570959,

(a), (b), (c) ¥R (d)

213345703960,

Question Number : 41 Question Id : 91394318059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A study was carried out on the drought resilience in India. Which of the following States
show highest level of handling drought ?

Options:

91294370961 Telangana, Andhra Pradesh, Tamil Nadu

a1394370962. Odisha, Karnataka, Kerala

Sikkim, Punjab, Arunachal Pradesh
91394370963,



01294370964 ) harkhand, Chhattisgarh, Jammu and Kashmir

Question Number : 41 Question Id : 91394318059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IR | Y fefa T & 9 | ek s1eeA o ) fefaiad § 9 f6 i d g g fued =@
Faifee TR <@ T E 2

Options:
- T, Y @, Ty

2913342703961

91394370962 O FS9l, FAIeh, Hid

[

1594570065 [TRRH, TSI, BT HaTl

291334570964

Question Number : 42 Question Id : 91394318060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The most harmful types of environmental pnﬂutants are :
Options:

- 1’ r.- - . Ir-.- I--| II-|
91394370965, Human organic wastes

T S g ) i ” ]
915394570966, Wastes from faecal matter

a1z943709s> INon-biodegradable chemicals

91394370965, Natural nutrients present 1n excess

Question Number : 42 Question Id : 91394318060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

qaTYek BN JAETg Ygue ¢
Options:

o) ¢
91394370365, AIMd Sd AT

fawal 51 319ad

2153342703966,



TR-SE3TI&og 9

B13345703967.

Thides e i a1 e

9123345703965,

Question Number : 43 Question Id : 91394318061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) : Natural gas is a very attractive eco-friendly fuel.

Reason (R) : It produces few pollutants and less carbon dioxide per unit energy than
any other fossil fuel on combustion.

Code :

Options:

1304370050 DOth (A) and (R) are true and (R) is the correct explanation of (A).

a1304370a70. DOt (A) and (R) are true and (R) is not the correct explanation of (A).

a1394370971 (A) is true, but (R) is false.

a1zaaz70a7s (A) 18 false, but (R) is true.

Question Number : 43 Question Id : 91394318061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ATURLT (A) :  WIHfdH 19 9gd SAHYF TAeR0-gad 394 ¢ |

WHIT (R) : T Ted o AN (Rl ST SEH 389 S Sl FH YgUF ad SR wid e
ol § &1 HEd SASTaES 3c9e 2l ¢ |

e

Options:

91294370089, (A) 3R (R) I H1 € 3R (R), (A) =l T AT ¢ |

(A) 3 (R) I 9&l € 3R (R), (A) 1 Tl ST & € |

91394370970,
91394370971 (A) SEl %! =g (R) TTeTd g
91394370972, (A) TTedd g o] (R) el 2

Question Number : 44 Question Id : 91394318062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What percentage of energy coming from the Sun is re-radiated towards the space ?
Options:

i Q
91334570973, 15%

25%
91394370974,

30%
91394370975, 30 %

0
B1334570976, 20 %

Question Number : 44 Question Id : 91394318062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g4 § 32Yd Fe1l 1 foha wfaerd siafte § ga.fafwfa 2 22

Options:

—.
913943?09?3.-15’0

VP59
913943?09?4_"5'”

L | ]
913943?09?5_~“U /o

%
91394370976, 20%

Question Number : 45 Question Id : 91394318063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
As per Central Forestry Commission (CFC), how many forest types are found in our

country ?
Options:

215334270977,

91334570978,

91334370979,

B1334570980, 16

Question Number : 45 Question Id : 91394318063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

215334270977, 15

21334570978,

212334570973, 28

91334570980, 16

Question Number : 46 Question Id : 91394318064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The number of open universities and directorates of distance education whose courses are
recognised by UGC as on August 9, 2018, is :

Options:

1 C
215394270951, 49

()
r..p' J

215394270982,

B13345709E3. o8

62
91334570954, i

Question Number : 46 Question Id : 91394318064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

9 ST, 2018 1 Fearfq & STTIR .M. 1. §R1 Jr=a1 9T g e fFeenerdi iR gea favafammerd
G

Options:

qC
B1334570981. 4%

]
r-.. J

1334570982,

91334570953,

62
91394370984,

Question Number : 47 Question Id : 91394318065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Match the following :

List - I List - II
(a) Open University (i)  Odisha State Open University, Odisha
(b)  Dual Mode University (if)  Amity University
(c) Mixed Mode University (iif) Indian Institute of Science, Bengaluru
(d) Deemed University (iv) University of Mumbai, Mumbai
(e) Specialised University (v)  School of Planning and Architecture, New Delhi

Options:

91394370985, (i) (i) (v) (1) (iv)
91394370986, 0 (v) (1) (D) (v)
91394370987, (v) (@O (v) () (i)

s139437008z, W) () (1) (iv) (V)

Question Number : 47 Question Id : 91394318065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

freAifera =t gafeTd =Y -

T - 1 =l - 11
a) Hx favafaams (i) 3ifewm =T g favafa=nerd, e
(i) UHS foavafa=me™
c) Taigd =&y favaia=ey (i) YR o= 5IH, §®
(
(

(
(b) &d EEY fovafaaea
(

= [ e

iv) Heg fagafoamm, g+

(d) WA vt
(e) Torroman ur fergafemmera

v) TasA wE argeen farmed, 2 foeed

Options:

s13943700ss. W) (@) (v) (1) ()



212334570956, (1) (IV) (LI'.) (I_LI'.) (V)

12334570987, (V) (l) (IV) (I_I'.) [:I_LI'.)

91334570988, (I_I'.) (I_LI'.) (1) (IV) (V)

Question Number : 48 Question Id : 91394318066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which private institutions in the following list have been granted the status of ‘Institutes of
Eminence’ by the MHRD ?

(1) BITS, Pilani

(ii) MAHE, Manipal

(iii) ~ Symbiosis, Pune

(iv)  Amity University, Noida

Choose the correct answer from the code given below :
Code :

Options:

(1) and (ii)
Q139427 0959.

(i) and (iii)
91334570930,

(ii) and (iii)
Q12942370991

(i) and (iv)
A1 394370992,

Question Number : 48 Question Id : 91394318066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

. ue. AR g Frefefiaa gt d Sh-d wrgde e wit sFfeare e oive 2o fi =il
fmER?

(i) dred (e Aem,), ferh
(i)  UH.LEE.E., i

(iii)  ferarifia, oo

(iv) ufedt gfafid, T

= fqu Mo Fe # @ | I g
w2

Options:



(1) U5 (ii)
91394370989 h

(1) U4 (iii)
91394370990, ™

(ii) TS (iii)
91394370991 «

(ii) UF (iv)
Q1=294370992, «

Question Number : 49 Question Id : 91394318067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
One of the first states to establish a higher education council was :

Options:

| Sikkim

91334570933

Goa
91394370994,

- n Iy =
91394370995, Andhra Pradesh

0139437000 Jammu and Kashmir

Question Number : 49 Question Id : 91394318067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=R Treq ufieg 1 T 39 a1 U8l O 0 W U ©

Options:

91334370933, IEI hy
913345709394, “

913345709585, S 3

S 3R HYHR

215334270936,

Question Number : 50 Question Id : 91394318068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
State higher education councils are established under the instruction of :



Options:

NITI Ayog

215334270997,

91394370998, RUSA

CABE

215334270999,

2 I
212334571000, PUSA

Question Number : 50 Question Id : 91394318068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

21334570997, l |~3:|'|?f|'r[

9133457093958, &

7.0 2.

21394270999,
91394371000, li
Paper 11
Group Number : 2
Group Id : 913943238
Group Maximum Duration : 120
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 200
07 Anthropology
Section Id : 913943238
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 913943918
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 91394318069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The theory of inheritance of acquired characters was given a death blow by

Options:

91394371001, D2
91394371002, ¢ 118
91394371003, ooman
91394371004, 2TATEE

Question Number : 51 Question Id : 91394318069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freaferfiaa o & forma srfifa or & Sagsn fagra =t wshm e an 2

Options:
91394371001,

fe sfta
91394371002,

ClELE
1394271003,
91394271004,

Question Number : 52 Question Id : 91394318070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following traits is not associated with primates ?
Options:

Stereoscopic vision
91394371005,



Social groupings
91394371006, grouping

91394371007, eliance on smell as the main sense

Brain complexi
G139427 1008, plexity

Question Number : 52 Question Id : 91394318070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr=ferfiaa 9 & wiv-a @gm weaed S wg T@f Jm R0

Options:

91394371005, Fifem gfte

91394371008, S

91394371007, e Ha 3 ferg e it wfe w0 Fnfean
91394371008, Hfersh feadt

Question Number : 53 Question Id : 91394318071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
One of the best known Miccene hominid Genus discovered in France is known as
Options:

Drvopithecus
91394271009, vop

91394371010, 1 roconsul

Theropithecus
B91334571011.

Gigantopithecus
91394371012,

Question Number : 53 Question Id : 91394318071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wig ® ure 7y et e s e fiag #t Fefafaa & @ w0 w5 s g 0

Options:



91334571003,
91334371010, ﬁgﬁ
91334571011, R
B9133437101%2. S

Question Number : 54 Question Id : 91394318072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following was notf considered as a geographical race by Garn (1961) 7

Options:

91394371013, editerranean

91394371014, JHeronesians

91394371015, ‘rsiaties

91394371015, Caucasians

Question Number : 54 Question Id : 91394318072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafeafaa & @ frd 7 (1961) gro ue witwiferes warfe 9@ @ O 2

Options:

91394371013, e
91394371014 AT
91394371015, RrieR
91394371016, S

Question Number : 55 Question Id : 91394318073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who was the author of the classic book “Growth at Adolescence” ?
Options:

91394371017, - Cameron

Barry Bogi
91234571015, &

91394371019, O Tanner

J.L. Thompson et al.
91394271020, pso

Question Number : 55 Question Id : 91394318073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ty T ASTAHE A0S TEE 1Y & oE@s efafaa dasm g 2

Options:

T, HETH
91394371017,
91394271018, w

=R e
913943710139,

AT, giegEe o o
21294271020,

Question Number : 56 Question Id : 91394318074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Harold Cummins and Charles Midlo are kmown for their work in
Options:

Blood group serolo
91394271021, roup 8y

Dermatoglyphics
91394371022, gvp

Biochemical genetics
913245371023,

Molecular anthropolo
Q1394271024 POToBY



Question Number : 56 Question Id : 91394318074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
#lies Fgfira 3 =red fagat =t Feafafigs 4 @ for &= 4 foro o 376 6 % forg s sman 2 2

Options:

91394371021 S g e
91394371020, SO
91394371023, 3 S
91394371024, S o

Question Number : 57 Question Id : 91394318075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The absorption — elution technique is used for the typing of
Options:

91394371005, Lransferrins

Haptoglobins
91334371026,

Red cell enzymes
1334571027,

Blood grou
Q1394=271028. BrOUps

Question Number : 57 Question Id : 91394318075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT — T deheteh o g el 4 @ fram wn fuffe s s e e s 2 2

Options:

91394371025, %
91394371026, R
T IR TATEH

91334571027,



S
913345710258, &

Question Number : 58 Question Id : 91394318076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Heath—Carter method is used for

Options:
91394371009, | utritional status

Somatotypin
91394371030, Tping

Body composition
913294271031, y post

Stature estimation from long bones
Q1394271032

Question Number : 58 Question Id : 91394318076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

dra—=re fafa =1 wim Freafefiaa 9 @ feas fou e @ 2 2

Options:

s feufa w93 % R
91394371029

I THR FHA o
91394371030,

IR a4 AH  foe
913294271031,

wt BT ¥ HE AT $
91394371032 *4 fer

Question Number : 59 Question Id : 91394318077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following processes is considered equivalent to socialization in
Anthropology ?

Options:

91394371033, Enculturation

91394371034, ‘eculturation



91394371035, ‘rssimilation

91394371036, opilization

Question Number : 59 Question Id : 91394318077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafiaa & & form wfsen =t Sfasm d amrsiteor & aages w9 2 2

Options:

HEf-mEm
91394371033,

p—
291394271034,
91394371035,
91394371036,

Question Number : 60 Question Id : 91394318078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The comparative and historical study of cultures or peoples is known as

Options:

Ethnograph
91394371037, graphy

Ethnology
91334371038,

Ethnohistory
91234571033,

91394371040, |lpnosclence

Question Number : 60 Question Id : 91394318078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HeHfaal q1 AN o gerteas o Wi svermm w5t few A & S S @ 2

Options:

et (o)

91334571037,



Tt v (erai)

91394371038,
Tarfa-3foem (3ot
91394371039
Tarfe-fasm (39eamsa)
91394371040,

Question Number : 61 Question Id : 91394318079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following Articles of the Indian Constitution makes provision for a special
officer for the Scheduled Castes and Scheduled Tribes to be appointed by the President of
India ?

Options:

91394371041, ‘ricle—371

91394371040 ruce—17

91394371043, ‘rtcle - 338

91394371044, ‘irticle 330

Question Number : 61 Question Id : 91394318079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

wrta w@faar % frafafias § @ fra sigsoe 3 yma % wegafa g sgfae snfeat siv s
sttt & fere ue famm srfererdt <t Frgfin fobw o =t sreems fen e 2 2

Options:

e — 371
91394371041,

g — 17
91394371042,

o — 338
91394371043,

=g — 330
91394371044,

Question Number : 62 Question Id : 91394318080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which year and where was the International Union of Anthropological and Ethnological
Sciences (IUAES) formed ?
Options:

Ed .
91394371045, 1294 1n Vienna

1973 in Chicago
91394371046,

91394371047, 104710 Paris

91394371045, 194 1n London

Question Number : 62 Question Id : 91394318080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

for =ad & ofi el Jevree i A6 TuIETTTSa s suATalFHa TEad (38,4, 05.0E.)

e+ form o 7
Options:

91334571045, 1954 % 3

21234571046, 19734 %

291334571047, 10474 A

1934 % AT #
91394371048, o

Question Number : 63 Question Id : 91394318081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“Man is basically uninventive by nature”, is one of the basic tenets of
Options:
Diffusionists
91394371049, o0

91394371050, T volutionists

91394371051 Structural functionalists

Historical particularists
91334371052,



Question Number : 63 Question Id : 91394318081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“HrE q& ¥ & T@WTETTd H-3fashe g 8, g8 fed smameg w2 2

Options:

91394371043, e #1
91334371050, ettt 1
91394371051, TS St
91394371052, Yo et

Question Number : 64 Question Id : 91394318082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who has proposed the concept of ‘Great and Little Tradition” ?

Options:

91394371053, - Marriott

91394371054, -1 Srinivas

91394371055, Tepert Redfield

L.P. Vidyarthi
B1334571056.

Question Number : 64 Question Id : 91394318082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feret “arq it &g woem’ i srgaToon wegd 6 2 2

Options:
. ifeae
913942710583,
. HfEm
Q12942371054 R
Tad tedies

215394271055,



., fermeff
91394371056,

Question Number : 65 Question Id : 91394318083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A data set where half the items are above and half below it, is called

Options:
91394371057, edian

91394371055, ede

91394371059, Ceometric Mean

91394371060, ean

Question Number : 65 Question Id : 91394318083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gl 1 Tk qg=, Fal 3 02 S o amsht w2 fi= E, suent @ w A @ 2

Options:

91394371057, e
91394371058, &
91394371053, St e
91394371060, o

Question Number : 66 Question Id : 91394318084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Whao wrote the book ‘Man Makes Himself® 7
Options:
91304371061, ' O Childe

91394371062, i Bose



91394371063, | D0as

91394371064, - Fortes

Question Number : 66 Question Id : 91394318084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

B9 g fgndes qER hAE@R R | 7
Options:
91394371061, 1.3, e
U4, &8

91394371062,

. "
913943710853, o

. RieH
91394371064, w

Question Number : 67 Question Id : 91394318085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following sites yvielded earliest evidence of cultivated rice in India ?

Options:

91394371065, | cikalakota

Sangankallu
913245371066,

91394371067, Corudih

9139437106, Leoldihwa

Question Number : 67 Question Id : 91394318085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fr=ferfiga 4 & form wore W G § =aw 399 9 % grefea @ieg e 4 2
Options:

91334571065,



HIEETS |

91394371066
91394371067 Te
91394371088, o0

Question Number : 68 Question Id : 91394318086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following hominids iz responsible for use of fire for the first time ?

Options:

91394371069, 11omo habilis

91394371070, lomo erectus

91394371071, 11omo neanderthal

Homo sapiens sapiens
91394371072,

Question Number : 68 Question Id : 91394318086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frafafaa & @ - gftfie #1fa % vom aua & fou e 2 2

Options:
91394371069, ot &
91394371070, it 3
FerEtm
91394371071, e
Tt &g dftm=.
91394371072,

Question Number : 69 Question Id : 91394318087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following continents yielded the earliest dated rock art ?

Options:



Euro
91394371073, pe

91394371074, ‘urica

91394371075, 52

91394371076, ‘lustralia

Question Number : 69 Question Id : 91394318087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafaa # & fofm werdte & @ sen & wriaaw w9 & @1eg o e o 2

Options:
91394371075, @q
91394371074, WX
91394371075, o
91394371076,

Question Number : 70 Question Id : 91394318088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following river valleys saw the development of second urbanization in India ?

Options:
91394371077, |ndusRiver
91394371078, [\armada River
Ganga River
91394371079,
Brahmaputra River
91394371080,

Question Number : 70 Question Id : 91394318088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



wra & freferfiaa & @ form =t wrdt & fadra sprdieon =01 faeprg gam o 2

Options:
fayg =t
1394371077,
1394271073, @
L
D139427107 9. @
FRIgF
21394271080,
Sub-Section Number: 2
Sub-Section 1d: 913943919
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 91394318089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following features best describe the Bombay blood phenotype ?
(i) It was first reported by Bhende in Bombay.
(ii) In these individuals, H antigen is not synthesized.
(iii) The individuals have naturally occurring anti-H antibodies in their plasma.

(iv) Bombay phenotype is a part of the Eh blood group system.
Choose the correct answer from the code given bhelow :

Code :
Options:

(1), (ii) and (iv) are correct
Q91294271081

(ii), (iii) and (iv) are correct
Q1294371052

(1), (ii) and (iii) are correct
Q12942371083

(1), (iii) and (iv) are correct
Q1594271054

Question Number : 71 Question Id : 91394318089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Freafefiga & & 98 @ wia s7g SAreRy #i gatfus 399 &0 @ aftfs #@ & 2
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(i) 39 =afwat & H edior gveifia 78 g g |

(iii) safwrat % versan #§ GA-H uaid sapfea: g g § |

(iv) i Hrerss Rh seie J9 el 1 0 feean 2 |

fr= fou o e & & ot I W g

% :

Options:

i), ..}an.{ iv)
912394371081, @, i G H’E’I‘E

..}’ .}an.{ . }
91334571082, (@), (i (iv) 7@ §

1304371083, W 3R (i) e &

.}, ...}an.{ s }
2153942710854, @, ¢ (iv) 8 &

Question Number : 72 Question Id : 91394318090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are the essential conditions for the operation of the Hardy-Weinberg
law ?

(i) Mating should be random

(ii) Population size should be very large

(iii) Mutation rate should be very high

(iv) Natural selection should not be operating

Choose the correct answer from the code given below :

Code :
Options:

(i), (ii) and (iv) are correct
Q139437 1085.

(1), (ii) and (iii) are correct
Q139427 108E,

(i), (iii) and (iv) are correct
A1294271087.

(i), (iil) and (iv) are correct
912394271088,



Question Number : 72 Question Id : 91394318090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 73 Question Id : 91394318091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following features best describe genetic polymorphism ?

(i) The occurrence in the same population of two or more alleles at one locus with a
minimum frequency of 1%.

(ii) The first widely accepted definition was formulated by Edmund Ford.
(iii) The degree of polymorphism is a useful measure of the diversity of a population.
(iv) All polymorphisms are balanced polymorphisms.

Choose the correct answer from the code given below :

Code :
Options:
(1), (ii) and (iii) are correct
A1=2942710849,
(i), (iii) and (iv) are correct
Q91294271090

(i), (iii) and (iv) are correct
Q1394371091



(i), (ii) and (iv) are correct
G13943271092,

Question Number : 73 Question Id : 91394318091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 74 Question Id : 91394318092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following features correctly describe Patau’s Syndrome 7
(i) Patau’s syndrome is due to chromosome 18 trisomy.
(ii) Victims are characterized by microcephaly.

(iii) One of the characteristic features is trigger thumb, i.e., thumb and
index finger overlap the third finger.

(iv) This syndrome is more frequent in females than males.

Choose the correct answer from the code given below :

Code :

Options:

(ii) and (iii) are correct
A1294271092,



(1), (ii) and (iii) are correct
913943271094,

(i), (iii) and (iv) are correct
91394371095,

(1), (iii) and (iv) are correct
Q139437 109E,

Question Number : 74 Question Id : 91394318092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 75 Question Id : 91394318093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following features correctly describe the female pelvis ?
(i) Ischiopubic ramus (medial view) is thin.

(ii) Subpubic angle is narrow (less than 907).
(iii) Sacrum is wide and straight.

(iv) Greater sciatic notch is wide (more than 687).

Choose the correct answer from the code given below :

Code :



Options:

(1), (iii) and (iv) are correct
91394=371097,

(ii), (iii) and (iv) are correct
913942710598,

(1), (ii) and (iii) are correct
Q12942710599

(1), (ii) and (iv) are correct
Q1294371100

Question Number : 75 Question Id : 91394318093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 76 Question Id : 91394318094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following features best describe Glucose-6-phosphate dehydrogenase
deficiency ?

(i) Itis also called favism.

(ii) Itisinherited as an X-linked dominant trait.

(iii) So far, not a single case has been reported from India.
(iv) G-6-PD deficient individuals show primaquine sensitivity.
Choose the correct answer from the code given below :

Code :
Options:
(1), (ii) and (iii) are correct
91394371101,

(1), (iii) and (iv) are correct
Q13943271102,

(ii), (iii) and (iv) are correct
Q1294271102

(i) and (iv) are correct
Q1394371104

Question Number : 76 Question Id : 91394318094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 77 Question Id : 91394318095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following facts are true relating to the Five-Year Plans of India ?
(i) Duration of First Five-Year Plan was from 1951 — 1956.

(ii) Duration of Fifth Five-Year Plan was from 1971 — 1976.
(iii) Duration of Eighth Five-Year Plan was from 1992 — 1997.
(iv) Duration of Tenth Five-Year Plan was from 2002 — 2007.

Choose the correct answer from the code given below :

Code :
Options:

(1), (iii) and (iv) are correct
91394371105,

(i), (iii) and (iv) are correct
91294371106,

(1), (ii) and (iii) are correct
Q91294271107

(ii) and (iii) are correct
Q1394271 108,

Question Number : 77 Question Id : 91394318095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 78 Question Id : 91394318096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following techniques of data collection in Psychological Anthropology are not
considered ‘culture-free’ ?

(i) Thematic Apperception Test (T.A.T.)
(ii) Rorschach Test
(iii) Dolls and Drawing Test

(iv) Sentence Completion Test

Choose the correct answer from the code given bhelow :

Code :
Options:

(1), (ii) and (iii) are correct
Q91294271109

(1), (iii) and (iv) are correct
912942371110,

(ii), (iii) and (iv) are correct
91294271111,

(ii) and (iii) are correct
91394371112,

Question Number : 78 Question Id : 91394318096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 79 Question Id : 91394318097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following basic assumptions belong to the school of evolutionism ?
(i) Psychic unity of mankind
(ii) Growth of culture in a single line i.e., from savagery to barbarism to civilization
(iii) Culture emerges once and once only in favourable circumstances

(iv) Comparative method i.e., equation of contemporary society with the primitive one

Choose the correct answer from the code given bhelow :

Code :

Options:

(1) and (ii) are correct
91294371112,

(1), (ii) and (iii) are correct
Q1=294=271114.

(i), (ii) and (iv) are correct
91394271115,

(i), (iii) and (iv) are correct
Q9129427 1116.

Question Number : 79 Question Id : 91394318097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 80 Question Id : 91394318098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What are not the criteria of a double descent group ?
(i) Rights, duties, and privileges of a group attached only with the mother’s side

(ii) Rights, duties, and privileges of a group attached only with the father’s side

(iii) Rights, duties and privileges of a group attached equally with father's and
mother’s side both

(iv) Some rights, duties and privileges of a group attached with father's side and
some from mother’s side

Choose the correct answer from the code given bhelow :

Code :
Options:

(i), (iii) and (iv) are correct
91394371117,

(1), (iii) and (iv) are correct
91394271118,

(ii) and (iii) are correct
913943711149,

(1), (ii) and (iii) are correct
Q1394371120.

Question Number : 80 Question Id : 91394318098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 81 Question Id : 91394318099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following criteria/concepts are related with German school of diffusionism ?
(i) Criteria of form/quality
(ii) Criteria of quantity
(iii) Age area concept

(iv) Food area concept

Choose the correct answer from the code given below :

Code :

Options:

(i) and (ii) are correct
91Z94371121.

(iii) and (iv) are correct
91394371122

(i) and (iv) are correct
91Z94371122.

(i), (ii) and (iii) are correct
Q1394271124

Question Number : 81 Question Id : 91394318099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 82 Question Id : 91394318100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following tasks are performed by medical anthropologists ?
(i) They study illness, disease and sickness.
(ii) They study health seeking behaviour.
(iii) They study shamanistic practices.

(iv) They study the social morphology of the community.

Choose the correct answer from the code given below :

Code :
Options:
(1) and (ii) are correct
Q91594271125

(1), (ii) and (iii) are correct
Q1394371126.

(i), (iii) and (iv) are correct
A1394271127.

(i), (iil) and (iv) are correct
G1294271128.



Question Number : 82 Question Id : 91394318100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 83 Question Id : 91394318101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following materials are suitable for Thermoluminescence (TL) dating ?
(i) Potsherd

(ii) Burnt flint
(ili) Fossil wood
(iv) Obsidian

Choose the correct answer from the code given bhelow :

Code :
Options:
(1), (ii) and (iii) are correct
91394271129,
(1), (iii) and (iv) are correct
91394271130,

(1), (ii) and (iv) are correct
91294271121,



(ii), (iii) and (iv) are correct
Q91594271122

Question Number : 83 Question Id : 91394318101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 84 Question Id : 91394318102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is correct for Acheulean culture in India ?
(i) Handaxe tradition

(ii) Cylinder hammer technique
(iii) Earliest known culture in India

(iv) Makers of the culture were Homo sapiens

Choose the correct answer from the code given below :

Code :
Options:

(i), (iii) and (iv) are correct
91394=3711325.

(1), (ii) and (iii) are correct
91394271124,



(1), (ii), and (iv) are correct
Q91594271125

(1), (iii) and (iv) are correct
Q91294237 1156.

Question Number : 84 Question Id : 91394318102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 85 Question Id : 91394318103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following are true for radio carbon dating ?

(i)  Universal in nature
(ii) Formed due to cosmic radiation in atmosphere
(iii) Inecorporated in trees due to photosynthesis

(iv) No balance between rates of formation and decay

Choose the correct answer from the code given below :

Code :
Options:

(1), (ii) and (iii) are correct
91594271127,



(ii), (iii) and (iv) are correct
Q9159427 1128.

(1), (iii) and (iv) are correct
Q912942371129

(1), (ii) and (iv) are correct
9123942371140,

Question Number : 85 Question Id : 91394318103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Sub-Section Number: 3
Sub-Section Id: 913943920
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 91394318104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The mutual interactive evolution of human biology and culture is known as
biocultural evolution.

Heason (R): Biology influences culture, but culture does not influence the direction of
biological evolution.
Options:

(A) is true, but (R) is false.
913942371141,

(A) is falzse, but (R) is true.
Q1=94371142,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
215942711435,

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394371144

Question Number : 86 Question Id : 91394318104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 87 Question Id : 91394318105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Mitochondrial DNA is a circular structure of about 16,600 base pairs.

Reason (R): Each cell has only one mitochondrion which, in turn, may have several
copies of its DNA.
Options:

(A) is correct, but (R) is wrong.
215394271145,

Both (A) and (R) are correct.
Q1294271148

{A) is wrong, but (R) is correct.
Q91594271147

Both (A) and (R) are wrong.
291394271148,

Question Number : 87 Question Id : 91394318105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 88 Question Id : 91394318106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Rh incompatibility can cause the disease erythroblastosis foetalis.

Reason (R): A serious problem occurs, when the father is Rh-negative and the mother
is Rh-positive.



Options:

Both (A) and (R) are correct.
Q1=294271149.

{A) is correct, but (R) is not the correct explanation of (A).
Q91294271150

(A) is correct, but (R) iz wrong.
Q91294371151

(A) iz wrong, but (R) is correct.
215394271152,

Question Number : 88 Question Id : 91394318106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 89 Question Id : 91394318107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : In humans, the best documented example of natural selection involves
hemoglobin S.

Reasgon (R): HB S is an abnormal form of hemoglobin that results from a point mutation
causing a defect in the alpha chain.
Options:

(A) is true, but (R) is false.
Q91294271153

(A) is false, but (R) is true.
Q91594271154



Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q91594271155

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394371156,

Question Number : 89 Question Id : 91394318107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Gene flow is the exchange of genes between populations.

Reasgon (R): The children of U.S. soldiers and Vietnamese women do not represent gene
flow because the fathers returned to the United States.

Options:

(A) is correct, but (R) is wrong.
91334571157,

Both (A) and (R) are correct.
Q1394371 158.

(A) is wrong, but (R) is correct.
91394271159,

Both (A) and (R) are wrong.
91394371160



Question Number : 90 Question Id : 91394318108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Hemophiliac sons always have hemophiliac mothers.
Reason (R): The inheritance of hemophilia gene is holandric in nature.
Options:

(A) iz correct, but (R) is wrong.
91594271161,

Both (A) and (R) are correct.
Q1394371162

(A) iz wrong, but (R) is correct.
215942711635,

Both (A) and (R) are wrong.
91394371164,

Question Number : 91 Question Id : 91394318109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Lemurs, Lorises and Tarsiers are called Prosimians.
Heason (R):  Monkeys, Apes and Humans are called Simians.
Options:
91394371 165, Both (A) and (R) are correct.

(A) is correct, but (R) is not correct.
91394371166,

(A) is correct, but (R) is wrong.
91394371167,

(A) iz wrong, but (R) is correct.
2153942711685,

Note: For thisquestion, ambiguity isfound in question/answer. Candidate will get full marksfor this question if any of the correct
options are chosen.

Question Number : 92 Question Id : 91394318110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Note: For this question, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 93 Question Id : 91394318111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Whereas “thinness” is considered highly desirable in American society;
obeszity i= considered desirable in Africa.

Reasgon (R): Values relating to personal disposition vary from one society to another.
Options:

Both (A) and (R) are correct.
91394371169,

(A) is correct, but (R) is not the correct explanation of (A).
Q1294371170

(A) is correct, but (R) is wrong.
91394271171,

(A) is wrong, but (R) is correct.
Q1594271172

Question Number : 93 Question Id : 91394318111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 94 Question Id : 91394318112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : M.N. Srinivas proposed the concept of ‘Sanskritization’ in his study of the
Coorg society.
Reason (R): In Sanskritization, it is found that a caste from a higher caste heirarchy
adopts the lifestyle of a lower caste to enhance his social status.
Options:

(A) is correct, but (R) is wrong.
91394271173,

Both (A) and (R) are correct.
91394371174,

(A) is wrong, but (R) is correct.
Q1294371175

Both (A) and (R) are wrong.
91394271176,

Question Number : 94 Question Id : 91394318112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 95 Question Id : 91394318113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : In order to collect data among a non-literate society, anthropologists mostly
serve a questionnaire to the informants.

Reason (R): A questionnaire is a set of questions sent by mail to be filled by the
informants.

Options:

(A) iz correct, but (R) is wrong.
91594271177,

Both (A) and (R) are correct.
Q1394371178.

(A) iz wrong, but (R) is correct.
91394271173,

Both (A) and (R) are wrong.
91394371180

Question Number : 95 Question Id : 91394318113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 96 Question Id : 91394318114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : “Potlatch’ organized by Kwakuitl Indians is an example of egalitarian
redistribution.

Reason (R): In egalitarian redistribution, the redistributor takes the lion’s share and the
receivers become paupers.
Options:

(A) is true, but (R) is false.
91294271151,

(A) is false, but (R) is true.
Q91594271152

(A) is false and (R) is also false.
Q1394371183

(A) is true and (R) is also true.
912494271184,

Question Number : 96 Question Id : 91394318114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Morgan’s scheme of evolution of family and marriage is based upon his study
of ‘classificatory’ and ‘descriptive’ kinship terminologies.

HReason (R): In classificatory terminology, an ego addresses by a particular term to a
generation or class of kinsmen, and in a descriptive system, each kinsman

iz addressed by specific terms.

Options:

(A) is true and (R) is false.
913494271185,

(A) is false and (R) is true.
Q1394371 186.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394371157,

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394371188,
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : L.P. Vidyarthi proposed the concept of sacred complex in his study of
Hindu Gaya in 1961.

HReason (R): In sacred complex, it is studied that how the life of a people revolves around
nature on the one hand and around spirit on the other.
Options:

(A) is correct, but (R) is wrong.
913943711859

Both (A) and (R) are correct.
Q1394271190,

(A) is wrong, but (R) is correct.
913394271191

Both (A) and (R) are wrong.
91394371192,

Question Number : 98 Question Id : 91394318116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The term ‘bride price’ was replaced by E.E. Evans-Pritchard as ‘bride wealth’.

Reason (R): It was replaced because price of any good or service is fixed at the
equilibrium point of demand and supply of the commodity, which is not the

case in a marriage.
Options:

(A) is true, but (R) is false.
91394371192,

(A) is falzse, but (R) is true.
Q91294371194

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
21594271195,

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394371196,
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Single Line Question Option : No Option Orientation : Vertical
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) ; Leslie A. White and V.G. Childe are considered ‘multilinear evolutionists’.

Reason (R): Multilinear evolutionists believe that culture evolves in a single line from
savagery to barbarism to civilization.
Options:

(A) is true, but (R) is false.
Q1394371197.

(A) is false, but (R) is true.
B91334571195.

(A) is false and (R) is also false.
913494371199,

(A) iz true and (R) is also true.
Q139427 1200,

Question Number : 100 Question Id : 91394318118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 101 Question Id : 91394318119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : National character studies were developed during the Second World War.

HReason (R): During the Second World War each nation was interested to know the
‘national character’ of the enemy nation for strategic reasons.



Options:

(A) is true, but (R) is false.
B91334571201.

(A) is false, but (R) is true.
Q1594271202

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1294271203

Both (A) and (R) are true and (R) is the correct explanation of (A).
291394271204,
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Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Iron technology developed around the rocky haematite rich terrains.
Reason (R): It is the development of a complex management of social order.
Options:
91394371205, Both (A) and (R) are correct.

(A) iz correct, but (R) iz not the correct explanation of (A).
215394271206,



(A) is correct, but (R) is wrong.
Q1594271207

{A) is wrong, but (R) is correct.
Q1294237 1208.

Question Number : 102 Question 1d : 91394318120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Indus valley civilization developed standardized weights and measures.
Reasgon (R): There was development in long distance trade.

Options:

91394371509, (A) iz correct, but (R) is wrong.

Both (A) and (R) are correct.
Q1394371210

(A) iz wrong, but (R) is correct.
21594271211,

Both (A) and (R) are wrong.
91394371212

Question Number : 103 Question Id : 91394318121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Question Number : 104 Question 1d : 91394318122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Many prehistoric societies enjoyed highly organized religions.
Reason (R): Religious beliefs are intangible and survive in the form of symbols.
Options:

(A) is true, but (R) is false.
912394371212,

(A) is falze, but (R) is true.
Q1294371214

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91594371215,

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394371216,

Question Number : 104 Question Id : 91394318122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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2 WA FHd I g |
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, R) e
91394371213, (W) &, g (R T |

e R
91394371214, ;IR TR
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Question Number : 105 Question 1d : 91394318123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : “Copper hoard” culture has a wide distribution in India.
Reason (R): Many of the copper objects of this culture are prepared by beating.

Options:

(A) is true, but (R) is false.
Q159427 1217.

(A) is false, but (R) is true.
Q1294237 1218.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
215394271219,

Both (A) and (R) are true and (R) is the correct explanation of (A).
91334371220,

Question Number : 105 Question Id : 91394318123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= 31w feu e 8, o & us stfirem (A) @ 3 g@0 7% (R) B | el =t afge ol = fag mo
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(A) 3 (R) g1 9t &, 7g (R), (A) i 98t =aren 76 § |
Q12942712149.

41334371220. (&) o (R) 3T 7 § 91 (R), (A) it 7 =06 R

Sub-Section Number: 4
Sub-Section 1d: 913943921
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 91394318124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the correct sequence of the following racial classifications in the ascending order in
which they were given.

(1) S.M. Garn

(i) W.C. Boyd

(iii)  Joseph Deniker
(iv) E.A. Hooton

Choose the correct answer from the code given below :

Code :
Options:

(1), (i), (iv), (ii)
91334571221,

(iii), (iv), (i), (i)
915394271222,

(i), (1), (ii), (iv)
91334571223,

(iv), (1), (1), (i)
912334571224,

Question Number : 106 Question Id : 91394318124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

(iii), (1), (iw), (i)
913345371221,

(i), (iv), (ii), (1)
91334571222,

(1ii), (1), (ii), (iv)
1334571223,

(iw), (1ii), (i), (ii)
913345371224,

Question Number : 107 Question Id : 91394318125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct sequence of the following anatomical landmarks in the cephalo-caudal
order.

Options:

Spherion — Acromion — Tibiale — Omphalion
215394271225,

Tibiale — Spherion — Omphalion — Acromion
91394371226,

Acromion — Omphalion — Tibiale — Spherion
91394371227,

Omphalion — Tibiale — Spherion — Acromion
21394271228,

Question Number : 107 Question Id : 91394318125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fawrat-wtee a8 fFafafiga mifes genat & o wa =t wg=fm |
Options:

91394371225, S -G - Rfterm -



fefaare — vhftany — AeIfeEs — wHiftrA

91394371226,
THifEE — e — fefeera — whftarfa
91394371227,
AETferT — fefasm — whftaiT — whiftee
91394371228,

Question Number : 108 Question Id : 91394318126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the correct sequence in ascending order of the following landmark developments in
human genetics.

(i)  Smithies developed starch-gel electrophoresis

(ii) Method of DNA fingerprinting by Jeffreys

(iii) Molecular basis of sickle cell disease by Pauling et al.
(iv) Development of Polymerase Chain Reaction methods

Choose the correct answer from the code given below :

Code :
Options:

(iii), (1), (ii), (iv)
1334571229,

(id), (iii), (iv), (1)
91334371230,

(1a1), (i), (1), (iv)
91334571231,

(iv), (ii), (1), (iii)
91334571232,

Question Number : 108 Question Id : 91394318126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ara et § Frefafigs wewepl sfed=i & ot sid s 6 gg=m fifaw |
(i) fareht 3 wrlde o fawfia $t
(i) wetE g S, femfifen 6 fafy
(i) wifert 3fit 379 grr < Shifirent I &1 anfoges amam
(iv) uifersits = foem fafemt & fawm
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Options:



(1ii), (1), (ii), (iv)
91334371229,

(11), (i), (iv), (1)
91334571230,

(1), (ii), (i), (iv)
91334571221,

(i), (i1), (i), (iii)
2153394271232,

Question Number : 109 Question Id : 91394318127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct sequence in ascending order of the divergences in primate evolution of
the following when they split off.

Options:

Orangutan — Gibbon — Gorilla — Chimpanzee
21394371233,

Gibbon — Chimpanzee — Gorilla — Orangutan
91394371234,

Gibbon — Orangutan — Chimpanzee — Gorilla
91394371235,

Gibbon — Orangutan — Gorilla — Chimpanzee
91394371236,

Question Number : 109 Question 1d : 91394318127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fr=fefiga & vt fawm 4 sEas-a & 98 A0S #0 it g9 fifiu 59 3 sem-sem E g

Options:

AR - fream — witfegn — feearsht

91394371233
91394371234, fire — fewrolt — iifegy — sger
91394371235, e — e — it — Mg
91394371236, i — arrger — it - fawrl

Question Number : 110 Question Id : 91394318128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the correct sequence in ascending order of the following racial classifications of the
people of India.

(i)  Giuffrida-Ruggeri
(ii) H.H. Risley

(iii) B.S. Guha

(iv) 8.S. Sarkar

Choose the correct answer from the code given below :

Code :
Options:
(iii), (i), (iv), (i)

91334571237,

(1n), (iv), (i), (1ii)
91334571238,

(i), (1), (iii), (iv)
913345371239,

(11), (i), (iv), (1)
91334571240,

Question Number : 110 Question Id : 91394318128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

WRd & @i % Frefafas T affe & ad amid wa f geem A |
(i) FwiEor
(i) wEue. foed
(i) #f.uE. Ta
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Options:

(idi), (ii), (iv), (1)
91334571237,

(1n), (iv), (i), (1ii)
91334571238,

(i), (1), (iii), (iv)
913345371239,

(11), (i), (iv), (1)
91334571240,



Question Number : 111 Question Id : 91394318129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the correct sequence of the following fossil men in the ascending order of their
discovery.

(i)  Sinanthropus pekinensis — (Peking Man)

(ii) Pitheeanthropus erectus — (Java Man)

(iii) Homo heidelbergensis — (Mauer Jaw)

(iv) Homo sapiens neanderthalensis — (Neanderthal Man)

Choose the correct answer from the code given below :

Code :
Options:
(1di), (iw), (i), (i)
91394371241,
(1), (iw), (ii), (iid)
91294371242,
(iw), (1i), (iii), (i)
91294371243,
(iw), (iii), (i), (i)
91394371244,

Question Number : 111 Question Id : 91394318129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafafiga e Stamat f saht @ia & adt srd w6t vgam i |
() et sfef=m - (SR 89)

(i) Freergon gt — (SrEr UHE)

(iii) &t gESTeiiag — (dteR 9E)

(iv) g afvra Proveeefe - (Fovsas oree)

Frer few Mo e § & T I H g
C T
Options:
(1), (iw), (1), (11)
91394371241,
(1), (iv), (i), (111)
91334371242,

(1w}, (i1), (ii1), (1)
91334571243,



(i), (111), (1), (i)
91334571244,

Question Number : 112 Question Id : 91394318130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the following schemes/programmes as per the order of their implementations.
(i)  Provisions of the Panchayats (Extension to Scheduled Areas) PESA

(ii) Tribal Sub-plan
(iii) Forest Rights Act
(iv) Special Multipurpose Tribal Block

Choose the correct answer from the code given below :

Code :
Options:
(iw), (i), (i), (iii)

2915334271245,

(1), (11), (i), (1v)
91334571246,

(iv), (1), (i), (i)
12334571247,

(ii), (iv), (iii), (i)
91334571248,

Question Number : 112 Question Id : 91394318130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(i), (i1), (i), (iii)
91334571245,

(1), (11), (i), (1v)
91334571246,



(i), (11i), (i), (1)
91334571247,

(i1), (iw), (i), (1)
91334571248,

Question Number : 113 Question 1d : 91394318131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the correct sequence of the following committees/commission in ascending order.
(i)  AV.Thakkar Committee

(i) Verrier Elwin Committee
(ili) Kaka Kalelkar Commission

(iv) Shilu Ao Committee

Choose the correct answer from the code given below :

Code :
Options:
(1), (i), (iii), (iv)
91=94371249.
(1), (1ii), (ii), (iv)
91394371250,
(iw), (iii), (i), (i)
91=Z94271251.
(i), (1), (ii), (iv)
91394371252

Question Number : 113 Question Id : 91394318131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(1), (11), (i), (1v)
91334571245,



(1), (111), (ii), (iv)
91334571250,

(i), (1), (i), (1)
91334571251,

(1), (i), (ii), (iv)
91334571252,

Question Number : 114 Question Id : 91394318132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct sequence of phases of the growth of anthropological researches, as given
by L.P. Vidyarthi.

(i) Formulatory phase
(ii) Critical phase
(iii) Constructive phase

(iv) Analytical phase
Choose the correct answer from the code given below :

Code :
Options:

(1), (11}, (1), (1v)
91334571253,

(1), (iid), (iw), (i)
B912334571254.

(i), (1), (iv), (1iii)
91334571255,

(i), (11i), (i), (1)
91334571256,

Question Number : 114 Question Id : 91394318132 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1), (11), (1ii), (iv)

91334571253,

(1), (111), (iw), (1)
91334571254,

(i), (i), (iv), (iii)
91334571255,

(iw), (1ii), (ii), (i)
91334571256,

Question Number : 115 Question Id : 91394318133 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange in correct sequence the concept of Institution, enunciated by B. Malinowski.

Options:

Personnel and norm — Material apparatus — Activities — Charter — Funection of institution
21394271257,

Function of institution — Activities — Charter — Personnel and norm — Material apparatus
91394371258,

Charter — Personnel and norm — Material apparatus — Activities — Function of institution
91394371259,

Material apparatus — Charter — Personnel and norm — Activities — Function of institution
21394271260,

Question Number : 115 Question Id : 91394318133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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91394371260,

Question Number : 116 Question Id : 91394318134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the following development schemes/programmes in the correct sequence in order of
their implementation.

(i)  Tribal Development Block
(ii) Training of Rural Youth for the Self-Employment (TRYSEM)
(iii) Tribal Sub-plan

(iv) Swarnajayanti Gram Swarozgar Yojana

Choose the correct answer from the code given below :

Code :
Options:
(1), (1i), (iii), (iv)
91394371261,

(1v), (1ii), (i), (1)
1334571262,

(id), (iii), (iv), (1)
91394371263,

(1), (i), (i), (iv)
91334571264,

Question Number : 116 Question 1d : 91394318134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frefefiaa fasra aommati/wrtwat it 375 wat-=a7 % o %7 § Tg=m fifsa |
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Options:

(1), (i), (iii), (iv)
91394371261,

(1v), (1ii), (i), (1)
1334571262,

(ii), (iid), (iv), (i)
2153342712635,

(1), (i), (i), (iv)
91334571264,



Question Number : 117 Question Id : 91394318135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange in descending order of the publication of the following books of S.C. Roy.
(i)  The Mundas and Their Country

(ii) The Birhors : A Little-known Jungle Tribe of Chhota Nagpur
(iii) The Oraons of Chhota Nagpur
(iv) The Hill Bhuiyas of Orissa

Choose the correct answer from the code given bhelow :

Code :
Options:
(iw), (1), (ii1), (1)

91334571265,

(1), (i), (iii), (iv)
B133457 1266,

(iw), (iii), (ii), (i)
91334571267,

(i), (iv), (1), (1)
91334571268,

Question Number : 117 Question 1d : 91394318135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

(iw), (i1), (i), (1)
91334571265,

(1), (i), (1ii), (iv)
B133457 1266,

(iw), (iii), (ii), (i)
91334571267,



(i), (iv), (1), (i)
91334571268,

Question Number : 118 Question Id : 91394318136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange in correct sequence the chronological appearance of the following stone tool making
technique.

(i)  Block on block

(ii) Punch technique

(iii) Prepared-core technigue
(iv) Cylinder hammer technique

Choose the correct answer from the code given below :

Code :
Options:
(i), (iw), (iii), (i)
21394271269,
(1w}, (i), (ii), (1)
V1394371270,
(11}, (iw), (1), (i1)
91394371271,
(11, (1), (iii), (iv)
21394371272,

Question Number : 118 Question Id ;: 91394318136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

(1), (iv), (iii), (i)
91334571269,



(i), (11i), (i), (1)

1334571270,

(i), (1v), (1), (1)
91334571271,

(i), (i), (iii), (iv)
1334571272,

Question Number : 119 Question Id : 91394318137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following sites chronologically according to the culture they represent.
(i) Kalibangan
(ii) Gufrakal
(iii)  Bagor

(iv) Nevasa

Choose the correct answer from the code given below :

Code :
Options:
(1), (iw), (iii), (i)

1334571273,

(iii), (i1), (iv), (i)
913345371274,

(i), (111), (i), (1)
91334571275,

(1), (1), (1), (1v)
91334571276,

Question Number : 119 Question 1d : 91394318137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Freafafiaa cuet =t 375 gro wfafifies i o areft @epf % sgom Femgen 4 sgafen fifv |
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(i) TR
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(1), (iv), (iii), (i)
91334571273,

(1a1), (i), (iv), (1)
91334571274,

(1w}, (iid), (1), (1)
91334571275,

(i), (1), (iii), (iv)
2913394271276,

Sub-Section Number: 5
Sub-Section 1d: 913943922
Question Shuffling Allowed : Yes

Question Number : 120 Question Id : 91394318138 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange climatic phases in sequential order from the following :
Options:

Gamblian — Kageran — Kanjeran — Kamasian
B1334571277.

Kageran — Kamasian — Kanjeran — Gamblian
91394371278,

Kanjeran — Kamasian — Gamblian — Kageran
91334371279,

Kamasian — Kageran — Kanjeran — Gamblian
913245371280,

Question Number : 120 Question Id : 91394318138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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2915334271280, - - -

Question Number : 121 Question Id : 91394318139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :
List I List IT
(a) Sickle cell disease (i) Western Europe
(b) G-6-PD deficiency (ii) Ashkenazi Jews
(e) Cystic fibrosis (iii) Tropical Africa
(d) Tay-Sachs disease (iv) Mediterranean Area

Code :
Options:

(a)iv), (b)-(1), (e)-{ii), (d)—(iii)
91394371281,

(a)-iii), (b)(ii), (e)-liv), (d)—~1)
91594371282,

(a)—(iii), (b)—(iv), (e)-(1), (d)—(ii)
91334271283,

(a)—(1), (b)—(iii), (e)—{ii), (d)~(iv)
91334271284,

Question Number : 121 Question Id : 91394318139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
gt 1%t gft 11 % oy gafea $ifsw ot = fgu mo 52 & 9 a8 s+t 9f
el 1 el 10
(a) @ dadm () ufvwdt g
(b) G-6-PD it F#ft (i) 3FveFTelt gt
(c) Tofees wreaifem (i) Iwrsfeadty sl
(d) a-F= Tm (iv) YEeamTiE &

% :
Options:
(a)—iv), (b)—(i), (e)—(ii), (d)—(iii)
91394371281,
(a)—(iii), (h)—(ii), (e)—(iv), (d)—(1)
91394371282,

(a)—(iii), (b)—(iv), (e)-(i), (d)—(ii)
91594371283,



(a)—(1), (b)(iii), (e)—{ii), (d)~(iv)
91334271284,

Question Number : 122 Question Id : 91394318140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List 1T and choose the correct answer from the code given below :

ListI List I1
(a) Physiological ability to reproduce (i) Demographic transition
(b) Reproductive performance of an individual (ii) Morbidity
(e) The relative incidence of diseases (iii) Fecundity

(d) Transition from high birth and death rates (iv) Fertility
to lower birth and death rates

Code :

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

(a)—(iv), (b)—(iii), (e)-(1), (d)—(ii)
913342712585,

(a)—(iii), (b)—(1), (e)-{ii), (d)~(iv)
91334271286,

(a)—iv), (b)—(id), (e)—(i), (d)—iii)
91394371287,

(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
91334571285,

Question Number : 122 Question Id : 91394318140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t geft 11 % e gafera $Hifsw ot = o mo 52 4 9 ad 3+t 9fe .

I e I
(a) W it e g (i) iR gftad
(b) =afer fagr o Freafs (i) FOTT
(c) TOTH <6t W wel (i) ST
(d) I W75 T 3§ T H FAUThd F0  (iv) SHA&HAT
0 gL 3 FH geg g aga

% :

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

(a)iv), (b)—(iii), (e)-i), (d)—(ii)
91394371285,



(a)—(iii), (b)—(1), (e)-{ii), (d)~(iv)
91334271286,

(a)—iv), (b)—(id), (e)—(i), (d)—iii)
91394371287,

(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
91334571285,

Question Number : 123 Question Id : 91394318141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :
List I List IT
(a) Autosomal dominant (i) G-6-PD deficiency
(b) Sex-linked dominant (ii) Tay-Sachs disease
(c) Autosomal recessive (iii) Hypophosphatemia
(d) Sex-linked recessive (iv) Marfan syndrome

Code :
Options:

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91334371289,

(a)iv), (b)—(iii), (e)—(ii), (d)—(1)
91394371230,

(a)—(ii), (b)—(i), (e)—(iii), (d)—iv)
91394371291,

(a)—iii), (b)~(id), (e)—liv), (d)~(D)
91324371232,

Question Number : 123 Question Id : 91394318141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1%t geft 11 % e gafea Fifsw o = fgu mo 52 & 9 ad a0+t 9.
LSl g I

(a) wrdt sfamg®t () qogpD & w4

(b) wuret fomagem (i) d-@=m

(c) oTorelt srfemepft (i) ETgUTRTEReRRET

(d) st fem-mge™ (iv) 9w fiogm

+ :

Options:

(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91594271289,



(a)(iv), (b)—(iii), (e)(il), (d)—(1)
91394371230,

(a)—(ii), (b)—(i), (e)—(iii), (d)iv)
91234271231,

(a)—(iii), (b)—(ii), (e)~iv), (d)—(i)
913345712392,

Question Number : 124 Question Id : 91394318142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :
List I List IT
(a) Dryopithecus (i) France
(b) Ramapithecus (ii) South Africa
(c) Neanderthal Man (iii) Germany
(d) Australopithecus (iv) India

Code :
Options:

(a)—iv), (b)—~(id), (e)—(i), (d)—(iii)
91334371233,

(a)—(iii), (b)—(1), (e)-{ii), (d)-iv)
91234271234,

(a)—(i), (b)—(iv), (e)-{iii), (d)—(ii)
91594371235,

(a)—(ii), (b)—(i), (e)—(iv), (d)(iii)
91334271236,

Question Number : 124 Question Id : 91394318142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t et 11 % g gefeaa Rifs it fi= e mo 5e & o ot a3+t 9fu

I et 11

(a) gEifufisrm () wid

(b) Tamfifiesr (i) gféor anfieR

() Hrigtye aa (i) S

(d) sAreefufiss (iv) wid

% :
Options:

(a)—iv), (b)—(id), (e)—(i), (d)—iii)
91394371295,



(a)—(iii), (b)—(1), (e)-{ii), (d)~(iv)
91334271234,

(a)—i), (b)—(iv), (e)-{iii), (d)—(ii)
912394371235,

(a)—ii), (b)—(i), (e)—(iv), (d)—(iii)
B13345712396,

Question Number : 125 Question Id : 91394318143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :

List I List IT
(a) Genetic distance (i) Hardy and Weinberg
(b) Genetic equilibrium (ii) Sewall Wright
(c) Mendelian population (iii) M. Nei

(d) Effective population number (iv) Dobzhansky

Code :

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

(a)—i), (b)—(iii), (e)—(iv), (d)—(ii)
913345712397,

(a)—ii), (b)—(iv), (e)—(iil), (d)~(1)
91334371238,

(a)ii), (b)—(iv), (e)—(i), (d)iii)
91234271239,

(a)—iv), (b)—(1), (e)—(ii), (d)—(iii)
91394371300,

Question Number : 125 Question Id : 91394318143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 1t o=t 11 % g gt hifse ot fi= fGe o e & & odt s+t 9
T T I

(a) STTafye gt (i) =T U8 A

(b) gl Gge (i) fiara wge

(c) Uoefw sHe@m (i) w0, 4%

(d) TTelt SEEET GEET (iv) StawEe

% :

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.



Options:

(a)—1), (b)—(iii), (e)—(iv), (d)—(ii)
B13345712597.

(a)=(ii), (b)—(iv), (e)—=(iii), (d)—(1)
91334571238,

(a)ii), (b)—iv), (e)—i), (d)—1ii)
91394371299,

(a)—(iv), (b)—(i), (e)—(ii), (d)—(iii)
91394371300,

Question Number : 126 Question Id : 91394318144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mateh List I with List IT and choose the correct answer from the code given below :
List I List IT
(a) Slow climbing type (i) Alouatta
(b) True arm-swinging brachiation (ii) Tarsiers
(c) Vertical elinging and leaping (iii) Loris
(d) Arm-swinging with prehenszile tail (iv) Gibbon

Code :

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

(a)-ii), (b)—iv), (e)—i), (d)—(iii)
91394371301,

(a)iv), (b)—(ii), (e)(iii), (d)—-(1)
91394371302,

(a)—(iv), (b)—(iii), (e)—(1), (d)—(11)
91334571203,

(a)—(ii1), (b)), (e)(ii), (d)—(iv)
91394371504,

Question Number : 126 Question Id : 91394318144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



gt 1%t geft 11 % e gafea Fifsw o = fgu mo 52 & 9 ad a0+t 9.

et 1 ESiplt
(a) et =g (i) wFeEmR
(b) H&! ¥4 # aTEl ¥ Feid gY 918 g THA (ii) T
(c) TFaad &9 ® Teh1 A FGT (iid) =T
(d) whe & fore de &1 Wi v sfE % sman e Gv) frea
& :

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

(a)—(ii), (b)—(iv), (e)—(i), (d)—{iii)
91394371301.

(a)—iv), (b)-(ii), (e)-(iii), (d)—(i)
91234271202,

(a)—iv), (b)—(iii), (e)(i), (d)—(ii)
9133943713503,

(a)iii), (b)—(1), (e)(id), (d)iv)
91394371304,

Question Number : 127 Question Id : 91394318145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :
List I List IT
(a) Homo habilis (i) Indonesia
(b) Homo floresiensis (ii) Spain
(¢) Homo ergaster  (iii) Tanzania

(d) Homo antecessor (iv) Kenya
Code :

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

(a)—{i), (b)—(iii), (e)—{iv), (d)—(ii)
913945371305,

(a)—(iv), (b)(ii), (e)—(i), (d)—iii)
91294271206,

(a)-ii), (b)—(i), (e)(iv), (d)(iii)
91394371307,

(a)—(ii), (b)—(iv), (e)~(i), (d)—iii)
91394371308,



Question Number : 127 Question Id : 91394318145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gt 1%t geft 11 % e gafea Fifsw o = fgu mo 52 & 9 ad a0+t 9.
LS A I
(a) Bt Bfaferm () $ERfEE
(b) Bt vt (i) o=
(c) B TOTERT (iii) o
(d) Bt veHEt (iv) 1

& :

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

(a)—(1), (b)—(iii), (c)—{iv), (d)—(ii)
91334271305,

(a)—iv), (b)—(id), (e)—(i), (d)—iii)
91394371506,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
915394271207,

(a)ii), (b)—(iv), (e)—(i), (d)iii)
91334271308,

Question Number : 128 Question Id : 91394318146 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :

List I List I1
(a) A phenotype produced by the environment (i) Hirsutism
(b) Excessive body hair (ii) Phenocopy
(¢) A single gene or gene pair producing (iii) Imprinting
multiple effects

(d) Modification of a gene as it is transmitted (iv) Pleiotropy
through the father or mother

Code :
Options:

(a)—(iv), (b)—(1), (e)-(iii), (d)—(ii)
91394371309,

(a)—(ii), (b)—(i), (e)—(iv), (d)(iii)
913324=271310.

(a)—(1), (b)(iii), (e)-{ii), (d)~iv)
91234271211,



(a)—(ii), (b)—(1), (e)—(iid), (d)—iv)
9139437131%.

Question Number : 128 Question Id : 91394318146 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1%t gft 11 % oy gafea $ifsw ot = fgu mo 52 & 9 a8 s+t 9f

Tt 1 ¥t I
(a) wafaro grn ffife Setesy (i) fedfesn
(b) TRt & arcafirs e (ii) TRt

(c) el Sf7 ara o7 gm St wg-yrE S e § (i) 3R
(d) ¥ft= & uftad= Fror G a8 fem @ aren & mem (iv) et
# wafed g 2
%l :
Options:

(a)—{iv), (b)—(i), (e)—(iii), (d)—(ii)
91334371209,

(a)(ii), (h)—1), (e)-(iv), (d)iii)
91394371310

(a)—(1), (b)—(iii), (e)—(ii), (d)—iv)
91294271211,

(a)—(ii), (h)—(i), (e)—(iii), (d)—(iv)
91394371312

Question Number : 129 Question Id : 91394318147 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :

List I List IT
(a) After marriage, couples living in husband’s house (i) Uxoriloeal
(b) After marriage, couples living in wife’s house (ii) Virilocal

(e) After marriage, couples living in the house of father's sister  (iii) Avunculocal
(d) After marriage, couples living in the house of mother’s brother (iv) Amitalocal
Code :

Options:

(a)—(ii), (h)—(1), (e)—(iv), (d)iii)
91394371313

(a)(i), (b)—(ii), (e)—{(iii), (d)—iv)
91234271214,

(a)ii), (b)—(i), (e)(iii), (d)iv)
91394371315,



(a)—{iv), (b)—(iii), (e)—(id), (d)~1)
91394371316,

Question Number : 129 Question Id : 91394318147 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gt 1=t geft 11 % e gafea Fifsw o = fgu mo ge & 9 a8 30+t gfe
Tt 1 ¥t I
(a) forame % wg oft Fw d © @ gof (i) FrFsietea
(b) framg ¥ arg vl F W # ® @ gef (i)t
(c) foramg % =g foran 1 7@ & W A ® @ geafe (i) T
(d) Frem S o Hud Fwd w R g (iv) e

+ :
Options:

(a)—(ii), (b)—(1), (e)-(iv), (d)—iii)
91394371313

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91394371314

(a)—(ii), (b)—(1), (e)—(iid), (d)—iv)
91394371315,

(a)—{iv), (b)—(iii), (e)-(id), (d)—~1)
91234271216,

Question Number : 130 Question Id : 91394318148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mateh List I with List IT and choose the correct answer from the code given below :
List I List IT
(a) Advancement of social and educational (i) Article 19(5)

interests for Scheduled Castes and
Scheduled Tribes

(b) Reasonable restrictions to safeguard (ii) Article 46
the interests of the general public or for
protection of the interests of any
Scheduled Tribe

(¢) Promotion of educational and economic  (iii) Article 15(4)
interests of Scheduled Castes, Scheduled
Tribes and other weaker sections of

the people
(d) Claims of Scheduled Castes and (iv) Article 335
Scheduled Tribes to services and posts

Code :

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:



(a)—(iii), (b)(ii), (e)—(i), (d)—iv)
91394371317,

(a)—(ii), (b)), (e)(i), (d)-iv)
91234271218,

(a)—i), (b)—(ii), (e)(iii), (d)iv)
91394371319

(a)—(iv), (b)—(iii), (e)-ii), (d)—(i)
91394371320.

Question Number : 130 Question Id : 91394318148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1=t geft 11 % e gafera $ifsw o = o mo e & 9 ad 30+t 9f .

T 1 et 1

(a) wggfea sifaai va sgfaa safaat (i) Iq=ag 19(5)
Trathores Ta Hér faal = gads

(b) 31 et o faat 6t wam o feeft oft srqafea i) svg=ed 46
st o feat & wn = foe wgfea wfrey

() g snfo, smgfea sonfoat va s=ar (i) 1g=e 16(4)
¥ 373w @l % e @ anfls Rt
it HreaTE

(d) Hanadt it w5 W sggfaa st vd sgfen  (iv) sgeeg 336
SaTfoat % g

% :

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

(a)—(iii), (b)—(ii), (e)—(i), (d)—iv)
91394371317,

(a)—(ii), (b)—iii), (e)~(i), (d)-liv)
91394371318.

(a)(i), (b)—(ii), (e)—(iii), (d)-iv)
91294271219,

(a)—iv), (b)(iii), (e)-(ii), (d)—(i)
91334371320.

Question Number : 131 Question Id : 91394318149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with List IT and choose the correct answer from the code given below :
List I List IT
(a) C.G. Helman (i) Medical Anthropology

(k) G.M. Foster and (i) Culture, Health and Illness
B.G. Anderson (edt.)

(c) RK. Mutatkar (iii) Society and Leprosy

(d) T.N. Madan (iv) Doctors and Society : Three Asian
Case Studies — India, Malaysia,
Sri Lanka

Code :
Options:
(a)—i), (b)—(ii), (e)(iii), (d)—iv)
21394271221,

(a)—(iv), (b)—(iii), (e)-ii), (d)—(i)
91394371322,

(a)—(ii), (b)—(1), (e)-iid), (d)-iv)
91394371323,

(a)—(1), (b)—(ii), (e)-(iv), (d)—iii)
913943713524

Question Number : 131 Question Id : 91394318149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 1t o=t 11 % g gt hifse ot fi= fGe o e & & odt s+t 9

gt I et o
(a) .50, T=le (i) Afewa wyidrafat
(b) 9. um, ®ieet A . (i) Fewt, B US IEAE
UstEA (T )
(c) FH., HeTTHt (i) HrETE T St
(d)y .04, "eq (iv) Sfeed U gramd : off ofiee a8
wety — sfen, wetfim, i &
% :
Options:
(a)(i), (b)—(ii), (e)—(iii), (d)—liv)
91394371321,
(a)—(iv), (b)—(iii), (e)~(ii), (d)—(i)
91394371322,
(a)—(ii), (b)—(i), (e)—(iii), (d)—(iv)
91394371323,

(a)—(1), (b)—(ii), (e)—(iv), (d)—iii)
91394371324



Question Number : 132 Question Id : 91394318150 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :
List I List IT
(a) Functionalism (i)  AR. Radliffe-Brown
(b) Structure functionalism (ii) E.B. Tylor
(¢) Classical evolutionism (iii) Malinowski
(d) Cultural materialiem (iv) Marvin Harris
Code :
Note: For this question, discrepancy is found in question/answer. So,this question isignored for all

candidates.
Options:

(a)ii), (b)—(iii), (e)—(iv), (d)~(1)
913342713525,

(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91334271526,

(a)iv), (b)—(iii), (e)—(ii), (d)—(1)
91394371327,

(a)—(ii), (b)—(iii), (e)—(i), (d)—liv)
91334571328,

Question Number : 132 Question Id : 91394318150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gt 1t geft 11 % e gafera $Hifsw ot = o mo 52 4 9 ad 3+t 9fe .
A1 T I
(a) WehraTg (i) u.IR. tefas-ar
(b) TT=AT FehrfaTg (i) .9, TR
() T feeraarg (iii) Eferrasdhr
(d) wiepfos stfasrarg (iv) wifds dfe

% :

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

(a)ii), (b)—(iii), (e)—(iv), (d)~(1)
913342713525,

(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91334271526,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91394371327,



(a)—ii), (b)—(iii), (e}—(i), (d)—iv)
91334271528,

Question Number : 133 Question Id : 91394318151 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List 1T and choose the correct answer from the code given below :

List I List IT
(a) Band (i) Tribal Council
(b) Tribe (ii) Headman
(¢) Chiefdom (iii) King
(d) Kingdom (iv) Chief
Code :
Options:
(a)—(ii), (b)—(1), (e)—liv), (d)—(iii)
91394371329
(a)(ii), (b)—(i), (e)—(iii), (d)—(iv)
91394371330
(a)=(i), (b)—(ii), (e)—(iii), (d)—(iv)
9139437132321,
(a)—(iv), (b)—(iii), (e)—(ii), (d)—(1)
91394371332

Question Number : 133 Question 1d : 91394318151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt 1%t gt 11 % g gafera $Fifsw ot = fu 7o 52 & 9 w@&d s+t g

T I Eolpl
(a) ¥ (i) e afeg
(b) e (i) i

() TOGH( sqa®dl (i) T
(d) Trreg=Et (iv) HTER
% :
Options:
91394271329, (a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)

(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
913342713320,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234271221,



(a)(iv), (b)—(iii), (e)(il), (d)—(1)
91394371332,

Question Number : 134 Question Id : 91394318152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List 1T and choose the correct answer from the code given below :

List I List I1
(a) Kuru (i) Plasmodium Virus
(b) Malaria (ii) Genetic mutations and carcinogens
(¢) Cancer (iii) AIDS wirus
(d) HIV (iv) Cannibalism
Code :

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91334271233,

(a)iv), (b)—(iii), (e)—(ii), (d)—(1)
91394371534

(a)—(ii), (b)—(iii), (e)—iv), (d)—(i)
91334571235,

(a)—ii), (b)—(iii), (e)—(i), (d)—liv)
91334371336,

Question Number : 134 Question Id : 91394318152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1=t geft 11 % e gafera $ifsw o = o mo e & 9 ad 30+t 9f .

gt gt I
(a) & (i) ErswifETm 9
(b) Tt (ii) SHfesh w=yeam vg wifdErT=
(c) Ha (iii) UgH TRH
(CIRCR (iv) TaTfasgmor

%

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91334271233,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91394371534



(a)—ii), (b)—(iid), (e}—(iv), (d)~1)
91394371335,

(a)—ii), (b)—(iii), (e}—(i), (d)—{iv)
912342712326,

Question Number : 135 Question 1d : 91394318153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mateh List I with List IT and choose the correct answer from the code given below :
List I List IT
(a) Unilinear evolutionist (i) Father Wilhelm Schmidt
(b) German diffusionist (i) Leslie White
(¢) Universal evolutionist (iii) Marwvin Harris
(d) Cultural materialist (iv) L.H. Morgan
Code:

Options:

(a)—(ii), (b)—(iii), (e)—iv), (d)—(i)
91334571237,

(a)—(iv), (b)—~(1), (e)—(ii), (d)—(iii)
91334371338,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234271229,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91394371340

Question Number : 135 Question Id : 91394318153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t o= 11 % g gefaa Rifse ot fi= Gy o 52 § @ odt 33+t 9

T 1 gl
(a) TR fawmaard (i) et faereen faie
(b) s Erard (i) wrEett =gmEe

() Trdvtfice fpraardt (i) o B
(d) TieHhs MRS (iv) TA.0E. W0
& :

Options:

91394371357 DD, ()i, ()=(iv), ()~

(a)iv), (b)—(1), (e)—{ii), (d)—(iii)
91394371538,



(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
913342712329,

(a)iv), (b)—(iii), (e)—(ii), (d)—(1)
91394371340,

Question Number : 136 Question 1d : 91394318154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Mateh List I with List IT and choose the correct answer from the code given below :
List I List IT
(a) The Raw and the Cooked (i) W.J. Perry
(b) The Children of the Sun (i) Claude Lévi-Strauss

(e) A Tribe in Transition : (iii) D.N. Majumdar
A Study in Cultural Pattern

(d) Ancient Society (iv) L.H. Morgan
Code :

Options:

(a)—(ii), (b)—(i), (e)—(iv), (d)(iii)
91234271241,

(a)—i), (b)—(ii), (e)-(iii), (d)—iv)
913345713242,

(a)—(iv), (b)—(iii), (e)~(i), (d)—(ii)
91334271343,

(a)—(ii), (b)—(i), (e)—(iii), (d)iv)
91394371544

Question Number : 136 Question 1d : 91394318154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt 1%t gt 11 % g gafera Fifsw ot = g mo 52 & 9 w3+t g

qe I |qHT 1T
(a) g 1 U8 g Fas (i) seeg . W
(b) g faega offe g &= (i) Feite oeft-ETE
(c) U grEa A giforem (iii) .. TERR
T &8 39 weate ded
(d) ufFinie Hraradt (iv) U&.u=, "
% :
Options:

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91334271241,



(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91334271242,

(a)iv), (b)—(iii), (e)-i), (d)—(ii)
913943713545,

(a)—ii), (b)—(i), (e)-(iii), (d)—iv)
912334571244,

Question Number : 137 Question Id : 91394318155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :
List I List I1
(a) Oxygen isotope (i) Dendrochronology
(b) Tree-ring (ii) Sea core dating
(c) Stratigraphy (iii) Petrology
(d) Stone (iv) Geochronology
Code:

Options:

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
913342713545,

(a)—(ii), (b)—(i), (e)—(iv), (d)(iii)
912342713246,

(a)—(iii), (b)—(iv), (e)(ii), (d)—(i)
91294371247,

(a)—(iv), (b)—(iii), (e)-(1), (d)—(ii)
9133242713548,

Question Number : 137 Question Id : 91394318155 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1%t geft 11 % e gafea Fifsw o = fgu mo 52 & 9 ad a0+t 9.

e 1 Tt 1T
(a) HATFF AFHIEN (i) SrgrhiArarst
(b) - (i) =t =it 2fm
(c) BT (iii) Fererst
(d) ©H (iv) Frtshitarstt
& :
Options:

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234271245,



(a)—(ii), (h)—(1), (e)—(iv), (d)iii)
91394371346,

(a)(iii), (b)(iv), (e)(ii), (d)—(i)
91334371347.

(a)—iv), (b)(iii), (e)(i), (d)—(ii)
91394371348.

Question Number : 138 Question Id : 91394318156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :

List I List IT
(Book) (Author)
(a) Science Based Dating in Archaeology (i) B. Fagan
(b) Dating the Past : An Introduction to Geochronology (ii) Desmond J. Clark
(¢) An Introduction to Archaeology (iii) M. Aitken
(d) The Prehistory of Africa (iv) Frederick Zeuner
Code:
Options:

(a)—iv), (b)(iii), (e)(ii), (d)—(i)
91394371349.

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91394371350.

(a)—iii), (b)~iv), (e)i), (d)—(ii)
91394371351,

(a)—(ii), (b)—(1), (e)-(iv), (d)—iii)
91394371352

Question Number : 138 Question Id ;: 91394318156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t o= 11 % g gefaa Aifse ot = Gy o 52 & @ odt 33+t 9

I T I
(75) (vra=)
(a) TTEH e 2 | anfdratd () . BH
(b) fén g une : @ geiedm ¢ ReiwArarst (i) SwvE A, T
(¢) UH §egreaaM g sAfaraist (iii) TH. HTGEHA
(d) 3 Wt st anfirent (iv) efeh 77
% :

Options:



(a)(iv), (b)—(iii), (e)(il), (d)—(1)
913943715439,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234271250,

(a)—(iii), (b)—(iv), (e)-(i), (d)—(ii)
912334571551,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91334371352,

Question Number : 139 Question Id : 91394318157 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :

List I List IT
(a) Cultural Resource Management (i) GIS
(b) Thermoluminescence dating (ii) Tell
(¢) Large mound formed due to (iii) TL

successive occupation
(d) Geographical Information System (iv) CRM
Code :

Options:

(a)—(iii), (b)—(iv), (e)~(i), (d)—(ii)
91334371353,

(a)—(ii), (b)—(i), (e)—(iii), (d)iv)
91394371554

(a)—(i), (b)ii), (e)—(iv), (d)—(iii)
91594371555,

(a)—(iv), (b)—(iii), (e)(ii), (d)—i)
913342713556,

Question Number : 139 Question Id : 91394318157 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1%t geft 11 % e gafea Fifsw o = fgu mo 52 & 9 ad a0+t 9.

ol 1 el 10
(a) weata fad $ae (i) ft.e9ms.ua.
(b) Fwigfrey 2fen (ii) ¥«
(c) TS HIIVE Hive e ¢ ol HAfagiyd (i) #.ua.
(d) sarfesha Fwinee fawen (iv) =t s,

& :

Options:



(a)—(ii1), (b)—(iv), (e)—(1), (d)—(11)
91334571353,

(a)-11), (b)—1), (e)L1ii), (di-1v)
91394371554

(a)-1), (b)—(ii), (e)—(iv), (d)—(iii)
912334571555,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(1)
91394371356,

Question Number : 140 Question Id : 91394318158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :

List I List IT
(Location) (Site)
(a) Sand dune (i) Mahadaha
(b) Coastal area (ii) Adamgarh
(c) Rock shelter (iii) Langhnayj
(d) River valley (iv) Patne
Code:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

(a)iv), (b)—(iii), (e)—(1), (d)—(ii)
91334571357,

(a)—(iii), (h)—(ii), (e)—liv), (d)—(1)
913345371358,

(a)ii), (b)—iv), (e)~i), (d)—(1ii)
91394371359,

(a)-1), (b)-1l), (e)Liv), (d)—1ii)
91394371360

Question Number : 140 Question Id : 91394318158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



gt 1%t geft 11 % e gafea Fifsw o = fgu mo 52 & 9 ad a0+t 9.

gt et I
(ararfearfa) (zarer)
(a) =& 1 el (i) weTEER!
(b) HHg-TE & (i) HATEHTG
() WgH 3THT (iii) ST
(d) 751 =t (iv) 9ed
% :

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

(a)iv), (b)—(iii), (e)-i), (d)—(ii)
91394371357,

(a)—iil), (b)id), (e)-{iv), (d)—~1)
91234271258,

(a)—(ii), (b)—(iv), (e)—(i), (d)—(iii)
H91334571359.

(a)—(i), (b)—{ii), (e)—(iv), (d)—(iii)
913342713560,

Sub-Section Number: 6
Sub-Section 1d: 913943923
Question Shuffling Allowed : Yes

Question Id : 91394318159 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH



Read the following text and choose/pick the correct answer of each of the
following questions :

UNESCO has categorized the endangered languages into four categories, namely
Vulnerable, Definitely endangered, Severely endangered and Critically endangered. A
survey conducted by a Vadodara based research centre suggests that India has lost
20% of its indigenous languages. Every year, a number of languages in the world get
extinct; thereby, indigenous knowledge, accumulated by the speakers of those
languages for millenia are also lost for ever. It is high time that the anthropologists and
linguists should together attempt to document them. The first comprehensive survey of
the languages of India was done during the British Raj by George A. Grierson, an
official of the Indian Civil Service, who was also made the first Director of the
Linguistic Survey of India. Grierson carried out a mega-project from 1894 — 1928, His
publications were though very exhaustive, but they suffered from different flaws also.
First, the data for the project was collected by untrained field workers such as school
teachers and low ranking government employees. Secondly, data from South India was
under-represented. Data from the province of Madras and the then Princely States of
Hyderabad and Mysore were ignored. During the Eleventh Five Year Plan,
Government of India attempted to expand the scope of Linguistic Survey of India
under the auspices of Central Institute of Indian Languages (CIIL) Mysore, by
launching a mega-project. But very soon the project was abandoned. It is assumed that
for fear of rise of linguistic ethnicity, the project was abandoned. Very recently a new
project, known as People’s Linguistic Survey of India (PLSI) has been launched by the
government under the auspices of an NGO called Bhasha Research and Publications
Centre (BRPC) to study Indian Languages.

Sub questions

Question Number : 141 Question Id : 91394318160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who has categorised the endangered languages into four categories ?

Options:
91394371361 Government of India
Linguistic Survey of India
Q15943713262
91394371263, Bhasha Research and Publications Centre
United Nation’s Educational, Scientific and Cultural Organisation
913942713264,

Question Number : 142 Question Id : 91394318161 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who was the first Director of the Linguistic Survey of India ?
Options:

Director of the Central Institute of Indian Languages (CIIL)
91594371365,



Director of People’s Linguistic Survey of India (PLSI)

Q159423713266

Director of Bhasha Research and Publications Centre (BRPC)
Q1294371367

George A. Grierson, ICS
Q1=29427 1288,

Question Number : 143 Question Id : 91394318162 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the main flaw in Grierson’s report ?

Options:

Language of the report was unsatisfactory.
21394271269,

Data from South India was under represented.
91594371370,

The project suffered from lack of funds, hence remained incomplete.
91394371371,

The le working with Grierson did not co-operate with him.
21394371372, peop g pe

Question Number : 144 Question Id : 91394318163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The loss of a language amounts to

Options:
Lossofa le
91394371373 peop
Loss of a territory
215394271274,
Loss of a body of valuable indigenous knowledge accumulated by its speakers over millenia.
91594371375,
Loss of indigenous fauna and flora in the region.
91394371376,

Question Number : 145 Question 1d : 91394318164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

th
Why was the mega-project launched by CIIL during the 11  Five Year Plan abandoned ?

Options:



For fear of schism between the CIIL and the government
91394371377,

For fear of loss of indigenous knowledge
Q1394371378 dig edg

For fear of loss of confidential documents possessed by the CIIL
Q139437 1379. Y

For fear of loss of rise of linguistic ethnicity in the coun
Q1294271280 gu w ry

Question Id : 91394318159 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension

Freferftaa marw =i ufgy oft 3o =g fag e Frafefes oes wyei & s e

Toreant 3 fagroma wrwsT =t 9w Afvrt | afer @ - smifds, Ffved w9 @ fagrom, swq
ferqrsma oftt steaa deheqel | arSteu fera weh sty Sy grar feman e wderor quifar & f6 v 3
Foft @ 20 wfewra era wrwredt 6t @t e @ | fava | wfe od sve wrd gr gt 2 1 3w
TeRIL, 34 WTWIST ol HEETecdl deh ateid ared @il g diaa 239 w4 ot w1 o o @t fean s
| ¥ o7edd wuATga & T araemed st ey et et qearafted S w1 AT |
fafem a1 & Shom wdta fufae da1 & v sl =i v firgms 3 vrdta w0 o
ferame wdeor o o | 9 wia Wyt Gderor o wuw e ot 59w e @ | e S 1894
& oo 1928 T e fawne afatan smaifem 6 oft | goft 3 venm e faeme 4, efs
9 e @it oft off | vgelt @nft, wpeft faret siit e wg o wemrlt wdnfat S smfafam
Fies wrfwdta 4 50 wfEren % o sifes v fee 4 | qudt @nft, S wra % sfwst =t
#n wfafafiea fon mon | vgra Wik, qeprela fomad S oft gy 6 st v | yma
GO W] Geata e % 2NE FeE wdr e were (e end.ue, ), g S
dearaa™ # ek faume TREa=n &1 Y i WG o ol ghe %1 grE 9gH & vard T
o1 | wifer 3t 21 38 afgtsmn =6t = fean man | =8 v e f vt srdtEan i vy 3
B4 % Y9 o FEU 39 RIS S0 T | BT B 0 GO Y91 91y U WehTH g

(eft. o .+t ) wraes oahrlt d@aa & aearad § widtg wraredt % srerR & fore foew
forfafees od 1w 3fen (d.ue.um. o, ) arh o i = o fean 2

Sub questions

Question Number : 141 Question Id : 91394318160 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ferer faregmsma st <At =m Afori & afer & 2
Options:

91334571261, A

B1334571362. a; A

Y91 ¥ U5 SohITH &g o
91394371363, « e



' % e, I ot wivpfos e A
91394371364 T ¥ e e

Question Number : 142 Question 1d : 91394318161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TE & Wit gdem w1 vy e o a1 2

Options:

S YR Y wea e (d g i ue. ) = Fewe
91394371365,

e fafefes od afe 3fem (f.ww. .. =1 fess
91394371366,

Y11 WY U YR g (of A d ) = Feees
91394371367

e . i, ond .
91394371368, A , R

Question Number : 143 Question Id : 91394318162 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forre it fratd o g @t 7 ot 2
Options:
39 foord < v areee o |
91394371369,
91394371370. on T S st Feen |

01394371371 T 638 & M & 7 @, Fafene it |

91394371372, firere < a4 M F Tt AT A I A w7

Question Number : 144 Question Id : 91394318163 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
W9 I @l 3 B E @

Options:

a1 $i g1

2915334271373,



qur i g

91394371374,
Tearfacdl a st aTd ArT g i qeaa™ gus 1 g
91394371375,
&= 1 3w et o Sig gl
91394371376,

Question Number : 145 Question Id : 91394318164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
wEdl deafTa T o SR 3, onmg. e, gy < 8 m-afertean s e femn mn o

Options:

oo, o v, o AR % d e F S H O

91394371377,
= g1 % = H FAW
91394371378 < 6
Y. 37, A8 U, % YT T@ T M9 SRl sl BIH % T % HI

91394371379, R e i

# wrrft ST % = U A0
91394371380, i M

Sub-Section Number : 7

Sub-Section 1d: 913943924

Question Shuffling Allowed : Yes

Question Id : 91394318165 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cesticn Label | Comprehiension



Read the following text and choose/pick the correct answer of each of the
following questions :

The distinguishing feature of the discipline of Anthropology is its holistic approach.
Anthropologists study all varieties of people and many aspects of human experience.
Different anthropologists concentrate on different characteristics of societies. There are
two broad classifications of the subject, Biological (physical) anthropology and Cultural
anthropology. Cultural anthropology is divided into three major subfields —
archaeology, linguistics and ethnology. Ethnology is the study of recent culture and is
usually referred to by the name Cultural anthropeology. Cross cutting these four
divizions is a fifth one, the applied or practising anthropology. With the growth of the
discipline specialization took place. Relevance of study of anthropology lies in the fact
that it serves mankind. It helps us to avoid misunderstanding between people. We may
come to realize that differences between peoples are products of physical and cultural
adaptations. Knowing about our evolutionary past may help us to understand and
accept our place in the biological world. There are many reasons to feel confident about
our future. Humankind has accomplished a lot so far. By means of tools and weapons,
animals larger and more powerful were hunted. They discovered how to make fire, keep
warm and cook. With domestication of plants and animals humans have greater control
over food supply. Mining and melting gave more durable tools. Building cities,
irrigation systems, ships and communication facilities made travel possible in a short
time. Humans conquered illness and prolonged life spans. Human beings and their
cultures have changed considerably over time. Human populations have been able to
adapt in changing circumstances. Humans continue to adopt challenges of the present
and future.

Sub questions

Question Number : 146 Question Id : 91394318166 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is the most distinguishing feature of the approach of the discipline of Anthropology ?

Options:

Its Biological approach
91594371351, o8 PP

Its Cultural approach
91394371382,

Its Ethnological approach
91394371383, o8l PP

Its Holistic approach
21394271284,

Question Number : 147 Question Id : 91394318167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
How many subfields are there in anthropology ?
Options:

91394371385, 1hree



Four

91394371386,
91394371387, Ve
91394371388, X

Question Number : 148 Question Id : 91394318168 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For understanding humans what is essential for anthropological study ?

Options:
Study of biology of le
Q129437132859 y 8y 0% peop
Study of present culture of humans
Q139427 13290.
Study of contempor language
Q915942713291 v porary guag
Study of all aspects of humans through time and space
Q1594371292 y & P

Question Number : 149 Question Id : 91394318169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Why is it important to know the evolutionary past of mankind ?

Options:

To know our place in space
91334571293,

To know our place in time
913345712394,

To know our place in the biological world
913345371335,

To know our place in our family
913345713396,

Question Number : 150 Question Id : 91394318170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How does anthropology make humans confident about their future ?

Options:



Knowledge about our capability for adaptation
G1394371397. edg pability P

Capable of hunting powerful animals
91394371398, L onE POWERETAR

Having control over food
2153942712399,

Develo communication system
91394271400, ped g

Question Id : 91394318165 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

Freferftaa marw =i ufgy oft 3o =g fag e Frafefes oes wyei & s e

3-fasm fawar it for Fergiwern soet @ 5190 o7 2 | - aeft weer % @it offt e sve
& 3 TEAA F1 AT A | | - 3-faarh warer Fr svem-sren i@ woem
Ffza wad € | 39 fawg & AR o gt arffe § —fee (i) 3-famm off wiesfos
3-fagm | wresfre 3-fagm =t o gea 39w # fawfaa foen st @ — quoe-fagm, wm-
forgmr afte sta-gw e | sa-aw e fremms desfar ot sremam & oit 38w wiesfaes 3-famm
& T B AT A1 R |3 S AT A & U qiEat W0 R - 9 91 saraai J-faem, gm
ferra = forsbra & Ty god faggar ot e | 3-faem & sveras 6yl 59 92 W
it et @ o o2 wa-anfa <t @ e 8 1 ww B ST % o Toawed! g HE § gErd
FAT R | B9 H3 AN TE TEHE B & 5 @il & dte gavg miifes ot gresfre s A 3uw
2 | o7 Fract wibe fawm &t o 8 g1 e o J st feufe it weft-wifa awgm ofk
weften e § warad frerdt 8 | s wieey % et d sy €9 % o S0 B € | wea-ef A
e T &3 Al i eartea G R, et o efiem & 92 off sifires witmett gaedt @
Farehre. fopa ST o, IFETR AT A W AT ST, TR AT SR @ wehe dian | it s
qEl 1 TEH O B w Ay W IR e e or | @ eih fraer i wen T aifue
feepras aftam feu | 3 s Fofor, fiand womeft, srersr sft wdmon 6t gfamadt & 0 gwg § @
HAT GWa BTl | Wia | et w faem wifte o Semere | afg it | wa ol IR we
ferai 7 froer @ & shrht wiad= s 2 | W SAEE aqed! g3 TiiEfa % w3 a1
geht | wTHE SR Sda it et gt % s @ w

Sub questions

Question Number : 146 Question Id : 91394318166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
3-fasm fowar & 9 v ot wan fafime fagma = 2 2

Options:

THHI Al I
91394371381,

TR HiTHah IIAH

B1334571382.



w1 SH-949 T Iamm
91394371383,

THh] HHT T
215942715384,

Question Number : 147 Question Id : 91394318167 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

3-forgm o fopeat 3u-gm € 2
Options:
21394271285, aH
21394271286, b
D1394271287. W
€
291394271288, e

Question Number : 148 Question Id : 91394318168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

qE it THEH o o 3-amfie srera o foae @ sifeErd 2 2

Options:
91394371389, ATt ) ST 1 e
AT i TAAH I H AT
91394371390
91394371391 SR ST 1
T AR T % arem § aee % it veget w aere
91394371392,

Question Number : 149 Question 1d : 91394318169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

wiHa o fusd fawrassa it ST Tevegl @41 8 2
Options:

FAaftg # o191 H 9 & o
91394371393



91334571294, S T S R

Sfes 97a # 19 T WA W fou
91394371395,

A qiER & a9 w=H 9 & foe
91394371396,

Question Number : 150 Question Id : 91394318170 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

3-fagm arE it a7 wifey & AR S avawd war § 7
Options:

91394371397 IFE % FoIe Y e 5 AR H A T

yiiwamett agatt #1 R @ 6t Fea
91394371398

e T A @+ e
91394371399,

291234571400,



